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TEST XIII - UNIT IY HISTORY & CULTURE OF INDLA

Which of the following is surname of Chandragupta II?

a. Vikramaditya b. Narendrachandra c. Devagupta
d. All of these e. Answer not known

LetTau(heuaTeuBmIe 61g @JewiLmb FhaHT@GUsHTer Ll L iGuuwT?

a. el&SToTdleHauwi b. BCyhHATFHS T c. CapoualsT

d. CupsmpPw Semensaid e el GFflwalsvensv

Choose the Harsha’s popular work

a. Ratnavali b. Nagananda c. Priyadharshika
d. All of these e. Answer not known

ansiTagfler LshouBp mEremevd Caiey OGFuls

a. yoemeler b. BISBHSBT c. Wlwsidsr

d. GupsampPw Semarsaid e, alewl Gafwaleiansv

Choose the correct statements about Hiuen Tsang

L. Hiuen Tsang, the ‘Prince of Pilgrims’ visited India during Harsha’s reign

II. His Si-Yu-Ki provides detailed information about the social, economic, religious
and cultural conditions of India during Harsha’s time

III.  Hiuen Tsang tells us how Harsha, though a Buddhist, went to participate in the
great Kumbhamela held at Prayag

a. L1l b. I, III c. II, III d. L II, III d. Answer not known
wjeumest geunml UBplw gflwrer Fampisamend CHiThoH0H
L. ‘yolas  wsfaiseier  @emeurger  oSMenPSSILUGL  WeUTET  Feumml,  aBTag e

S FuNSICUTEI AHFHWITe|HE UHSTT.

II. F-uy-8 i SleurEH Uwewid GMILILSET SILMISU  SLelenhiEaTar OHTGSLIL, aBTaT
&TVHH @hFHwraler &eps, QUIHMTHT, H, LIUTLH Hmeodel GBlHSH alifleure
CaFIFHm6NT  GULHIG BB

I11. aBTaYT @ OuMSHaITes SHHHCUTHID, LFwremsuled HeLoumm TeLmD  @GLuGenT
allpTalled HeVbHHIOHTeTeNF CFGIBTT 6laTmI UjeuTed Feumml GMILILIL (BeiTeniT.

a. L II b. I, III c. II, I d. L II, III e. allewL.  Gxfuiailsdenso

Choose the correct statements about Pallavas

L. The Pallava Kings ruled around the prosperous agrarian settlement and important
trade centre of Kanchipuram on the Southeast coast of India

I1. The central part of their kingdom was Thondaimandalam

a. Il only b. I only c. BothIand II

d. None of these e. Answer not known

LevevaUTHET UBBlw gflwrer Fammisamend CsihoHMm

L. LeLevel  SITFTHET OCFHEHIPHGHDS SLMBBMI UGHUTL (PSHFHW  eUemid  MWIDTHS
HBhS BTehFALTHMBUID, DIH6T U6 Hlenmhd GCeuenmemt LIGHEHWIWID S)6I0TL 6OT.

II. OBHTewIenL LOEWIL VLD LIsLeve SIFFle enWILGHWTS BBHSHSI.

a.l w’@Gw b. II w (G c. ] wpp II

d. eigiedsvenev e. alewL Gafualsdenso
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5. Which of the following sources used to know about the Pallavas?
L. Mandagapattu cave inscription
II. Aihole inscription of Pulikesin II
III.  Kasakudi Copper Plates
IV.  Accounts of Chinese traveller Hiuen Tsang
a. [ II b.IL III, IV  c. I II, III d. L II, III, IV d. Answer not known
SIPSHHWIL QUMBBIGT LI6L6VAITHET LB SISl 2 _SHab FTIBIS6T WTeneu?
L. BT SLUL[H GHMdd B0 (B
IL. @rewiLmb el8sAuller ouiBsmed @HevOeul(h
II1. BMFHSGF QFICUBH D6
IV.  weunenn geummialesr LuIewId@GMILILSG6IT

a. [ II b. IL IIL IV c. I I III d. I IL III, IV d. elen  Qxflwelsvensv

6. Choose the correct statements about Paranjothi
L. Narasimhavarman II's army general was Paranjothi
I1. He was popularly known as Siruthondar
III.  He led the Pallava army during the invasion of Vatapi
a. L1l b. I, III c. II, III d. L II, III d. Answer not known
urehGamg) uBBlw sflwrer FBpismens CaiThHoHMH
L. @IewILMD BIFbeuTDaNeT LIl HHenuig uUFehCams)
II. BeuT HBICHTERILT ereriiyueoTs Il LT
. @eaum euradmil uLOWEILI LLevaUT LIMLEGHSH SHmeVenD MMl L &6t
a.L1II b. L III c. IL III d.LILII d eleor Gsfwelsiensd

7.  The famous Kailasanatha Temple at Kanchipuram was built by
a. Mahendravarma I b. Narasimhavarma I c. Rajasimha
d. Nandivarma II e. Answer not known
&TehdLTHevielen LsbeuBBs m@BeorahTHT Camaleneod &L lguieu uwimr?
a. (WPpFHeomd L0CasbHTeuTLO6sT b. @wpgevrd BISIbIOGITIOT C. gredlibLoest
d. Syewimb BHhAHeuTioest e. alewL Gafuaisvemnso

8.  Choose the titles of Mahendravarma I

I. Sankirnajati II. Mattavilasa III. Gunabhara

IV. Chitrakarapuli V. Vichitrachitta

a. I I, III b.II, 1V, V c. LI, I, IV
d. All of these e. Answer not known

(WwHeumd BB TeUTION&T L L midsmensd BHihosH b

[. smdyemms) II. wsHmaleonses III. @ ewrumyest
IV. fgdHrsmliyed V. aldggrdgaen

a. [ I III b.II, 1V, V c. I, I, IV
d. 8mar SimaTHHID e. alenL  GaMuweailsvemev

9. Choose the correctly matched pairs regarding Pallava Architecture
L. Rock cut temples - Mahendravarman style
IL. Monlithic Rathas - Mamallan Style
II.  Structural temples - Nandivarman style
IV.  Structural Temples - Rajasimhan style
a. L II, ITI b.IL I, IV  c. II, IV d.LIIL III, IV e. Answer not known
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10.

11.

12.

13.
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LI606VAIT &L L L SbHemev OHTLTUTeeuBled Fflwimer Gemeisamnensd CaiThHo\%H 0B

L. uTtemBsdh GmLauenyd Carallevset - DCHHAITOUTLOT L6

II. QBMBSHH60 JTHMIHET - LOTLOELEVEST  LIT6w0T

HI. sl (wras Bsraledssl - HhHHeUTONT Limeu

IV. & @Buoras@sruleoset - gregdliboet Limeul

a. [, II, III b. IL III, IV c. II, IV d. L IL II0, IV e. afen. Qg flwelsvenso
Choose the correctly matched pairs

L. Dandin - Narasimha varma II

II. Bharavi - Simhavishnu

[II.  Perundevanar - Nandivarman II

a. L1l b. I, III c. II, III d. L II, III e. Answer not known
gflwres QuUTHBHW Bmansamend CaThHo%H0H

L. SHEWIQST - ETEWILMD [HIFIDLOGUTLDGT

IL. utgel — dibelageml
III. QUIBHBHeUGITT - ETGILTID [HHa6UTLOEHT
a. [ II b. I, III c. IT, I d. L IL III e. alewL Gafwalsdensy

Choose the incorrectly matched pairs

L. Vatsyaya - Nyaya Bhashya

II. Dandin - Dashakumara Charitha

III.  Kalidasa - Kiratarjuniya

IV.  Perundevanar - Bharathavenba

a. [ Il b. III c.IvV d. None of these =~ e. Answer not known
SHaUBTHL GUTHHIHW Demenisamend CHTHOSHMH

L. QUITHEOWITULIT - Pwmw ureduim

II. SHEWTIQ6HT - HFGLIY FHD

II.  srelgrs - dyrgredeiwib

IV.  QumbCsmeuemit - UMy SHoleueNTLIT

a. L II b. III c. IV d. ergieaisvenev e. alewL OxpMwaledenso

Choose the correct statements about Pattadakal
L. UNESCO World Heritage Site
II. It has ten temples

III. ~ Four temples were built in Dravida style

IV.  Six temples were built in Nagara style

a. L1l b. 111, IV c. [ II, III d. L II III, IV e. Answer not known
ulLLése0 uppw gflwmer gaBpiseend CaHThosHMH

L. Bz @ woeeBst o svsliumybuflwg  desrerd

II. @mE 10 CxmaleodseT o siTermer

I11. Braie Camaledssl gSymall Lmemiluled &L Ul (HeTeng
IV. am Caralevse BTHTIT LTewulled &L L LI (BHeTerng.

a. LIl b. III, IV c. LI, I d. L IL III, IV e. allewL  GFfwalsoemnsv

Choose the correct statements

L. The art and architecture of the Rashtrakutas can be found at Ellora and Elephanta

II. The Kailasanatha temple at Ellora has resemblance to the shore temple at
Mamallapuram

a. I only b. I only c. BothIand II

d. None of these e. answer not known
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gflwrer gnppisemen Cxie) GFu1s

L. ITORQTSmL THeMe  HeW6D  LOBMID  SLIYL HHMVF  FTHweIHemen  6160Gs0mTTaleVid
61600 OILIGITLTOIGVID  SHTEmTEUTLD

II. eTeLBeomymailevieTern mBUTFHTHT  Bamallsd LOTLOGOGOLJLD  SLBHMTSH GamaileVledt
FTweneulIGLBMIeTeN S

a.l w’@Gw b. II w’ (G c. ] wppw II

d. gaflevensv e. alewL Oxfuwalsdensv

14.  Match the following

A. Vellanvagai 1. Land for the maintenance of a School
B. Brahmadeya 2. Land gifted to Brahmins
C. Shalabhoga 3. Land of non Brahmin proprietors
D. Devadana 4. Land gifted to temples
E. Pallichandam 5. Land donated to Jaina institutions
A B C D E
a. 1 2 3 4 5
b. 3 2 1 4 5
C. 5 2 1 4 3
d. 1 2 5 4 3
QUTHSHHIB
A. Gouenmemt euewad 1. Seval Hlemevwmisenenl LFTOANLSBSTS eUPRHISBLILIL L
[Hl6VRIB6IT
B. Wybi@shuibd 2. UgmoewiTeehd@&Gd CeTenLwImg aUPRISLILILL  [BleOmIS6N
C. gmevBunsid 3. UJmoenijeoeons 2 el enoulmeN(hé@GF OFMbHSHLOTeN  HleVmIS6i
D. @zxeugmed 4. CamalevsEhd@ OBTENLUITS GULPHISLILIL L [Ble0mIgeiT
E. uetef&smald 5. SevIFoWl BBIISTRISEHEEG CSTEnL TS UPHISLILIL L
(56O 61T
A B C D E
a. 1 2 3 4 5
b. 3 2 1 4 5
C. 5 2 1 4 3
d. 1 2 5 4 3

15.  Choose the correctly matched pairs
L. Thiruvalangadu plates - Rajendra Chola I

I1. Anbil plates - Sundara Chola

III.  Uttiramerur inscription - Parantaka Chola

a. L1l b. I, III c. II, III d. L II, III e. Answer not known
gilwnsll GuIHhIHW Demenisamend CaHThHOSHMH

L. SHmeuTeomasT(h LI LWmseT - (pHeomd Jrlbaly Campent

II. SIOTLIED LI L UIBIS6IT - &hSTCHTI6IT

II. o 58yCwmT BH60G6UL B - ugThHe GFmipest

a. [ II b. I, III c. IL I d. L 11, III e. allemL  Gafwealsvensv

16.  Consider the following
Assertion (A): Muhammad Ghori had stamped the Figure of Goddess Lakshmi on
his Gold coins and had his name inscribed on it.
Reason (R): This coins tells us that this early Turkish invader was in all likelihood
liberal in religious outlook
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17.

18.

19.

A and R are true and R is the correct explanation of A

A and R are true and R is not the correct explanation of A

A true and R false

A false and R true

e. Answer not known

LevTau(hHeuaTeuBens LIS

aBm (A): ok Csril Hrer QeuefullL Sms bHTeawLSHed GLem Gidulsulomer Eevl giblufes
algausHmHL UHIISHISH Heg GuWmTUID QUTSISSSF CFUIS HHSHTT.

srgewid (R) : @bBrewiuid Sbsd QBT _SasTe0H SHIBHSS WL LmLQUIBLILTETT HalFLkise/led
STITENHHETMOUL 6T BLBSH OBTEHILAT  TIUSBHTH  DIDOTHBHF  FTHHUWS — FnmBISHEnETULD
® _ITHSHIH MBS

a. A wpmpib R afl wppid R aeug A elBg sfwrer alendasid

b. A wBpi R #f wipid R eaaug A alBg glwme alendssven

c. A sl R sapm

d. A seaum R &

e. alowL Gafweailsdenso

S

Choose the correctly matched pairs

L. Periyapuranam - Sekkhizhar

IL. Nalayira Divyaprabhandham - Nambiyandar Nambi

[I.  Devaram - Nathamuni

IV.  Thiruvasakam - Manikkavasakar

a. l II, III b. 11, II c I IV d. L II, III, IV e. Answer not known
gilwnsll QuIHbhIHW emenisamend CaHTbHOSHMH

L. Quiflwygmesid - Brsm ot

II. preoruly SHeuwdyLbsLd - pLwimesrLmT oLl

III.  Gmeumyd - BIS(ell

IV. Smamnssd - LDIT 600785 B 6UTF &HIT

a. I, II, IIT b. I, II c.IV d. L II, II0, IV e. alewL Oz fwealsbensv

How many pairs are correctly matched?

L. Gita Govindam - Jayadeva

I1. Madura Vijayam - Ganga Devi

II.  Amukthamalyatha - Krishnadevaraya

IV.  Prithviraj Raso - Kalidasa

a. 1 pair b. 2 pairs c. 3 pairs d. 4 pairs  e. Answer not known
SIPHHMILUBBIGT 61HHemeT @enewidbel Flwmasll QuThHGHSUILL (Heiterment?

L. &HTCHTAIHSHLD - OuwiGseur

II. W ITaleguid - HEISTCHa

III.  swsHTeowsST - B(magerGhHeuymui

IV. Ufgelyrey g@sm - BTN SIS

a. 1 Senewr b. 2 Genewiesein C. 3 ©enewIb6l
d. 4 Senewiseir e. alewL GaMuwealsdemev

Match the following

A. Minhaj-us-siraj 1. Tabakat-i-Nasiri

B. Hasan Nizami 2. Taj-ul-Ma’asir

C. Zia-ud-Barni 3. Tarikh-i-Firoz Shahi

D. Ferishta 4. Tarikh-i-Frishta
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20.

21.

22.

A B C D
a. 1 2 3 4
b. 2 3 1 4
C. 3 1 2 4
d. 1 3 2 4
QuTHSHHIH
A. WSisgy-2_erd-fymey 1. HUBH-B-Heroifl
B. amger megmo 2. HTY-2 6o-om-IFT
C. 2Qum-2_g-uyenf 3. omiéH-B-L1CyTagTs
D. QuflegLm 4. F1ié--CufladLm
A B C D
a. 1 2 3 4
b. 2 3 1 4
C. 3 1 2 4
d. 1 3 2 4
Which of the following deals with the history of the rise of the Mughal power in India?
a. Tabakat-i-Nasiri b. Taj-ul-Ma’asir c. Tarikh-i-Firozshahi
d. Tarikh-i-Frishta e. Answer not known
SLpSH eIl auBmIeT 6% @hHwTaled (weeomw S Fulledr 61(p&Fd GBlHH aleullbalaima?
a. UBH-E-Henifl b. sres-2 60-om-O1T C. &ié-@-LIGITagms)
d. sms--Guilagm e. alewL  GaMwaledenso
How many pairs are correctly matched?
Books Authors
L. Ain-i-Akbari - Abul fazal
II. Akbar Nama - Akbar
II.  Tazk-i-Jahangiri - Jahangir
IV.  Tabakat-i-Akbari - Badauni
a. 1 pair b. 2 pairs c. 3 pairs d. pairs e. Answer not known
SLDSHSHEMIL QUBMIGT 6THHemen Eemenisel FRwmsll QUTHSSHLILIL (Heiternen ?
BHIT60 S
I oulell osUif - SILJGOLITF60
I1. SISLIT [BTLOT - SISUIT
I11. SHFbH-O-amTrgfl - SQQBITRIET
IV. S SH-B)-o1b L - UGTeo
a. 1 @enemt b. 2 @Semeniamei C. 3 ©emewIH6l
d. 4 Benewicmeir e. alewL Gafuwealsvemnsv

Choose the correct statements about Marcopolo

Marcopolo, a Venetian traveller, visited the later Pandiya Kingdom

2. Marcopolo was twice in Kayal, which was a port city

3. Marcopolo tells that he himself came by a ship from China

4. According to Marcopolo, thousands of horses were imported into Southern India by
sea from Arabia and Persia

a.1,2,3 b.1,2,4 c.2,3,4 d.1,23,4 e. Answer not known

omrsGamGurGsor uBPlw sflwmer gwBpismens BHTHOHB

1. QGeusdlled mHeFEF GFihgk uvweni ITHECHTCUTGT LIBsTe0 UTEEIQWIT S Fuled 6uHEDS

MHSITT.

2. i@{ﬁ%? SHIOPBHHH60 HTUIGD 6IMID 2aN(HEEG ENH(LPENB GUHSHIGTENTT

3. dFemaled(mba ST SLLID aubHHTUI LOTTECHTCUTCT  gnpilujeitermmiT.

4. 9Griwmaledmbaid UMFSSHHHHSHID puilTbsanisder GHHoIHen O ereainhdwTaleo
sLev e @me@d GFuiwiul gres wmréaCarCuTCeor @Il Bal e

a.1,2,3 b.1,2,4 c.2,3,4 d.1,23,4 e. alewL  Gafuiailsvemnsv

=
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23.

24.

25.

26.

27.

28.

Choose the correct statements about Ibn Battuta?

L. According to him, Egypt was rich then, because of the whole of the Indian trade
with the west passed through it.

II. He describes the city of Delhi a vast and magnificent city.

a. I only b. I only c. Both I'and II

d. None of these e. Answer not known

Buet ugrsT uppdw gflwrer gmBpismensd BHTbo%H®

L. SIUHDLW  HHSSHIIUYG  adHICH GFeveud OaMfldHs BTLIGD garaied GCBeshaul

BTHSEHL e QbAHWTaler euellad (PIPaUBHID 6HIlGHe aupumsCeal HenL GUBBS.
II. OLeved @ urhEH alfibs, ChTHHWTET HBTOSID DT alleufebamTT.
a.l w’@Gw b. II w’ (G c. ] wppw II
d. egiadsvenso

Who among the Delhi Sultans transferred his capital from Delhi to Dauladabad?
a. [ltumish b. Balban ¢. Muhammad Bin Tughlaq

d. Alauddin Khalji e. Answer not known

SPHHEWIL.  OIL606d FOSHTIH6MED WITT Heigh HmevhHen] Ol60e0uled(hhEH CFHemeuSHTUTHHME
LommpleoTiT?

a. ®evzifad b. umevLes C. (&I Hidb6rs

d. sporadear Hevgd e. allenl GEMNuwaileoensv

Arrange the following travellers in chronological order regarding their visit to Vijayanagar

I. Abdur Razzag II. Nicolo Conti III. Domingo Paes

a. [, II, III b.1II, I, III c. IIL I, II d.II, III, I d. Answer not known
SpdbeemiL  Liweniseilear almups) albmmaLlitly sreeuflanaiubGsHas

I gt gansd II. Pa&CxarBsom Bameniy III. GLmAMmBHT Liwerd
a. L IL, III b.II, 1, I1I c. Il I, II d.IL IIL, I d. elewL Qxflwalsdensv

Sathish Kumar borrowed X 52,000 from a money lender at a particular rate of simple
interest. After 4 years, he paid X 79,040 to settle his debt. At what rate of interest, he
borrowed the money?

a.13% b.11% c.12% d.10% e. Answer not known

FHOYGLOMT  elBLIUT @h SL&T eupmi@ BURLOBHH Rs.52,000 83 @b @PUILL Sl iy
alHHPHe0 sLamsll CUBBTT. 4 WIGHeT HPHH FHaGLTT Rs.79,040 g OLrdss
CaTenawnTss CFashHerT 6afled, aUlly aiSHmHH HTEMIS.

a.13% b.11% c.12% d.10% e. alenL  Gafwealsvensv

In how much time will the simple interest on X3,000 at the rate of 8% per annum be the
same as simple interest on 34,000 at 12% per annum for 4 years?

a. 4 years b. 8 years c. 10 years

d. 12 years e. Answer not known

33,000 oIFshE HEGH 8% e aupBIGILGD SHeflal puiteardl 4,000 SIFaIHE LTHHE
12% o1 4 SUeWI(HBEHHESG QUPBIGLILGD Halal 19dhE BHBITGID HTeVD 6T6T6T?

a. 4 oI BHei b. 8 eyemiBasern . 10 syemiBsei

d. 12 syewiBsel e. alewL  OsMuwialsvemen

Rahul borrowed 34,000 on 7th of June 2020 and returned it on 19th August 2020. Find the
amount he paid, if the interest is calculated at 5 % per annum.

a. 34000 b. 34004 c. 34040

d. %4400 e. Answer not known
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29.

30.

31.

32.
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IT&Hev 7.6.2020 ety 3.4,000 8 sl GUBHM Siewd 19.8.2020 oieim HHIDL OFeIG 6.
5% eislb eully SHewidbdLIULLTD ST CFaISHU CHTens eTeleueTe)?

a. 34000 b. %4004 c. %4040

d. 34400 e. alewL  O&MNuwalsvemen

What will be the ratio of simple interest earned by certain amount at the same rate of
interest for 6 years and that for 9 years?
a.1:3 b.1:4 c.2:3

d.2:5 e. Answer not known

6 WBBEHIGD, 9 PWGHEHEGDL @67 el alHHHHo GPIIILL  COFHTEnsWTE0
FULLUGLD Hell eul iguilest al&lHd HTemiss

a.1:3 b.1:4 c.2:3

d.2:5 e. alewL  O&MNuwealsvemen

In simple interest, a sum of money amounts to 36,200 in 2 years and 6,800 in 3 years. Find
the rate of interest.

a. 8% b.10% c.12% d.14% e. Answer not known
R CTms @ GUBUUILL Sealally aissHdHed 2 SuaiBseled 6,200 eeieybd, 3 oyLemBHEere0
26,800 eI@viaylb o WITHBH 61N60 aULlly aiHHMS HTEWIH

a. 8% b. 10% c.12% d. 14% e. aleowL Oz fwealsbensv
Match the following
A. Ibn Battuta 1. Morocco
B. Nicolo Conti 2. Italy
C. Abdur Razzaq 3. Persia
D. Domingo Paes 4. Portugal
A B C D
a. 1 P 3 4
b. 1 2 4 3
C. 2 1 3 4
d. 2 1 4 3
QUTHSHHIB
A. QueugTHT 1. QumymGamiT
B. m&GamGeor Bsmeniig 2. @56V
C. olam gans 3. unydsld
D. GLmARGHT Liuterd 4. GUNTFSHBDHE0

A B C D
a. 1 2 3 4
b. 1 2 4 3
C. 2 1 3 4
d. 2 1 4 3

How many pairs are correctly matched?

L. Vijayalaya - Revival of Chola dynasty

I1. Raja Raja I - Brihadeshwara temple

III. ~ Raja Raja Il - Gangai Konda Cholapuram

IV.  Rajendral - Gangai Kondan

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known
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33.

34.

35.

36.
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SpHEHmILaupmlen Flluwmsll QUTHHAU EeneTTHET 615H3HEN6T !

L. allmwmeower - Gamp aubgFHmS WL CLF CFUISHTT

II. (WH6eUTD @ITegrmeger - LigsgeroaurT Camalev

I1I. GUewiLTD SITMITeme - Hhiend Cdmeni GFmpyyd

IV.  pgeomd @ImBmbdye - &miend OHTewIL Tei

a. @f Beneur b. Syewih Genewiemseln C. CLPGHIEI BN 6uTIH6T
d. piaie; Sameniseln e. alewL GaMuwelsdemsv

Choose the correct statements about Rajendra Chola I

L. He proclaimed himself the Gangai Kondan

II. The Gangai Konda Cholapuram temple was built to commemorate his victories in
East India

III. ~ The navy of Rajendra Chola enabled him to conquer the kingdom of Srivijaya

a. [ II b. I, III c. II, III d. All of these e. Answer not known

WHeord Rrm@baly Gampent uBBlw FRlwmer SnBpIBmend HewIL e

I BhING OCBTEmTIL 6T 6leTm SHesteneorll LIFsLaliubBHHd 6\smemrLmiT

II. Hpdd BpHwul Cuniseisd CuBm GCeupplule HeneTeurs SwhmE OdTewi  GFTLOLTLD
Gamailensy  erpLILNGITT

I1I. gm8xpbaly  Gompeier  sLBumL  wfalmwlt  Cuigmsds  mSLUUBB  DIUHESS
SleneniL{fibSH.

a. [ II b. I, 1II c. 11, III d. Bmar SimarHsId €. el O fwalsenew

The Vijayalaya line of Chola rule was ended with the death of

a. Veera Rajendra b. Athirajendra c. Rajaraja IT

d. Rajendra III e. Answer not known

allmwimeoweier aufleuhbCoHmier S & OBrGuUTH (PYeysHE abHHI

a. afy QyrGbg e b. 918 BgrGxbalye C. @yewiLmb Eymegymeger

d. epeprd @riBmpbdresr e el GFflwealsvensv

Choose the correct sequence of the administrative division of the Later Cholas
a. Mandalams > Naadus > Kurrams > Gramam

b. Naadus > Mandalams > Gramam > Kurrams

c¢. Naadus > Kurrams > Mandalams > Gramam

d. Mandalams > Kurrams > Naadus > Gramam

e. Answer not known

Uismeo Gamyp smeuddlar miteurslillflalenaremwll QuUTheHSH FHlwuTs DMWHHMSHSH CHiTd
LDGIITL_6UMRIBGT > BTBEH6IT > SnBBmIS6T > SHFmiob

BTHSHET > LWL GUMIG6T > SHFTOD > FnBBmIS6!

BTBHSHET > FnBBHIG6T > LDGWIL 60RIGET > SHJTLOWD

LDGUITL_GUMRIBET > Fn@BBmiISen > BTHHeT > Symod

alenL  OFfluwailsoensv

oo o

How many pairs are correctly matched?

L. Urar - Land holders

I1. Sabhaiyar - Brahman villages

III. ~ Nagarattar - Settlement of traders

IV.  Nattar - Assembly of Nagaram

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known
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37.

38.

39.

SpHaHmILauBmlen Fflwms QUTHHHW EenenTsHelT 615 5Hemen?

L. QeI - [Hl6V © L eDIOWITENTEHGIT

II. FOUWTT - LNJTDCIIT SJTLOBIGHEIT

II1. BBTHSHTT - euenllasTaseier @QuilblLser

IV.  mrionf - parshdler Seme

a. @f Beneur b. &m Bmenismei C. CLPGIHI BN 6uTIH6T
d. s Smensel e. alowL GaMuwealsvemev

Choose the qualification for members of village sabha that mentioned in the Uttiramerur

inscription

L. Men and women in the age group of 35-70

II. Well versed in vedic texts and scriptures

III.  Possession of own land and house

a. [ II b. I, III c. II, III d. All of these e. Answer not known

o &FHrGLemHT BH6LOIRIL_ 196D &y FenLl o ML 6T (6Th b BT 60T HSHHHENTH
CarhsbalulLameuseisy Fflwmaensd GCHiThHOHMH

L. GumliuiBLD SewiseT BEILD CuewigeT 35-70 Wl UTDLSHEG6T BhHHe0 Ceuemi(BLD
IL. Gougmmeoseievid Fowmmeoseiad BxTFd CQUBMHEE Beuewi(BLd

I1I. Bev o Memwwmengmeseyd OQFThHalh 2 L weufrsead ShHs Geueamsi(BLD.

a. [ II b. I, 1II c. 11, III d. @man gemarsain  d. el G flwealeveneo

How many pairs are correctly matched?

L. Devedana villages - Temples

II. Pallichandam - Jain institutions

II.  Ulukudi - Land owners of vellanvagai

IV.  Brahmadeya - Land grants to Brahmins

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

SpdbaemiLeupmien Fflumsll QUTHHHW Eenewis6ll 6153Hen6n?

L. Gxpeummernr HITomiH6 - Goraledam6l

II. ueiTeFF LD - oW FoW [HBIEI6THRIG6IT

L. 2 sl - Gouenmewioum®d HIEVSHHH 2 _6HL HLOWITETSHET

IV.  QmbwoBsuid - LmoenITHEheHE STEIOTS GUIPRISLILIL L. [BleVHISET
a. @f Beneuwr b. &m Bemewnismei C. CPSIWI B)em6mTeb6iT
d. pisie Smensel e. alewL GaMuwealsvemsv

How many pairs are correctly matched?

L. Ennayiram - Villupuram

II. Uttiramerur - Kanchipuram

II.  Tirubuvanai - Near Puducherry

IV.  Thirumukkoodal - Near Chengalpattu

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SpdHHemILeuBmler FRAwmsl QUTHHSHW EenewIH6T 6153Hem60n?

L. oTeuuTemOTTU LD - elapLiyyib

II. o S5HTGemHT - BMEhdILTID

I1I. BH(HLIeUEm6IT - urewngFGBafleh@ SImHBev

IV. HHPSHInL_60 - QFRIBEOLL (BHEG DI(HB60

a. @f Beneuwr b. &m Bemewismei C. CLPSIIBI Bem6mTb6lT
d. pisie; Smensel e. alewL GaMuwealsdemev

10 | Page PH: 044 - 24339436, 42867555, 9840226187




40.

41.

42.

43.

In the period of later Cholas, the trade guild Anjuvannattar comprised

I. East Asians II. Arabs II1. Jews

IV. Christians V. Muslims

a. [, II, IIT b. II, IIL, IV, V cIV,V

d. All of these e. Answer not known

LIBsme0 GaFmpTaHeT HTe0HHE0 Diehdi GUITEMIHSTT 6TeID GUNBEGHD DIMLOLILT6D E)(hHbSHeUTEH6NT
I. Apded opfwirsern II. &Gy lwirser III. wsiTsen

IV. dnfssaitsern V. @eveumfwieselt

a. [, II, III b.IL, II1, IV, V cIV,V

d. @mal maISHSHID e. alewL GaMuwealsvemev

The donor of the Velvikkudi copper plates was

a. Sadayavarman Sundarapandyan b. Virapandyan c. Varaguna I

d. Varaguna II e. Answer not known

Gouslalld@ly QFIBULIgeT GaTenLwmeilwms SpslutiLGueuT

a. FENLWGUTLDES SHi[bSHITLITEwNIQUIGH b. efyumewnguies C. (PSH6OMLD 6 (G 6001601
d. @yewiLmD e, eunest e. alewL OxMwaleteneo

Arrange the following in chronological order

L. Malik Kafur’s invasion to Madurai

II. Vira Pandyan appointed as co-regent

III.  Killing of Maravarman Kulasekaran

IV.  Sundarapandyan fled to Delhi

a. Il IV, I, 1T b. IIL 11, I, IV c. IL ML IV, 1
d. I III, I, IV e. Answer not known
Lelteu(meueieuBenpd  SmeveuflenaLiLi(hd s

L. omelldaiyfle gyl LenL GuidriL|

IL. alyuUTewIgWeT gal B SIFFITS HWLOSSILGESH60

III. LOTBEUTLO6ST (&60CFHT6I  OBMeLEVLILIBSH60

IV. SHBHTUTEOTIQUIET GIL6Veld alenIhadl @BHFH60

a. Il IV, I, 1T b. IIL, 1L, [, IV c. IL L IV, 1
d. I, 100, I, IV e. alewL OgMwalsdensv

Consider the following

Assertion (A): In Madurai, a Muslim state subordinate to the Delhi Sultan came to be
established

Reason (R): After Malik Kafur’s invasion, the Pandyan Kingdom came to be divided
among a number of Kings from the main ruling Pandya’s family

a. A and R are true and R is the correct explanation of A

b. A and R are true and R is not the correct explanation of A

c. A true and R false

d. A false and R true

e. Answer not known

LelTeu(hHeueTauBens LIS

aBm (A): waeguled OOl HOSHTOISGGHS SLBUULL @ (LPer0edld SII& o (HeuTeaLlILLL g
srgewid  (R):  wmelssyfer umLQublLsel eteam ol d  CFuig Osmewighbs DTF
GBLUSMHF GFhs L0 SFFTHenTed UTewiguwl BTG LIfSHHHOBTeTTILIL L SI.

a. A oppb R sfl wBpd R eeamg A elBg aflwrer elendasom@bd

b. A wBmiw R &M wppid R eaeug A alBg sflwrer alerdsioeoen

c. A afl Raeam

d. A saup R af

e. alowL Gaflwealedenso
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44.

45.

46.

47.

48.

How many pairs are correctly matched?

L. Mangalam - Brahmin settlements

II. Bumiputtirar - Actual landowning groups

III. ~ Nattumakkal - historically local people in the region

IV.  Cittirameli periyanattar - communal assembly of nattumakkal

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

SIPHHWILAUBBIGT 61HHewenT Denewidbell Fllwims QUTHBSLILL (HeiTermest ?

L. LDBIGGVLD - LIgmoentTadeiar @luil(briLselt

II. WOUSATTHET - HlevdHHeT 2 eRIeHIOWITET 2 6DL DLOWITETTEHEIT

II.  priGwsser - augeorBpifdurs oLiLGHows Cabsd LDoHS6l

IV. dsapGwl Qufl mriLnT - BTG woHaeler @amlenemibs Fps LOGIBL
a. @f Beneur b. &m Bmenismei C. CLPGIWI B)em6mes6il
€. BTG Eenemnrael e. alewL Ggflwalsvenso

In the 12t century A.D. The Muslim rule in India was established by

a. Muhammad Ghazni b. Muhammad Ghori ¢. Qutbuddin Aibak

d. [ltumish e. Answer not known

SL.U.12891b HIBBTENIge ShHwTaled @erveomowiT S Fenw BHniealuwleui

a. (PaFH Hel b. sz Gl C. GIYFHear mush

d. @csidad e. alewL Gafwalsdenso

Choose the correct statements about Bandagan

L. It was nurtured as special slaves by Muhammad Ghori

II. Bandagan a Persian term used for slaves purchased for military services

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

uewiL &6t LB Ffllwmen gwBpiIsenend CHThHOSHMH

L. Bsmel (WPHH Camil Heafleuams DigenosenTasll GuewierTit

IL. UewiL kel el UMpFsF  Ggmedelest  QUM(HET  @JTamieull  UenidaTs  allenevd@
QUTRISLILIL L. DIQENLOH6IT 6T6ILISTEHLD

a.l w’@Gw b. II w @G c. ] wpp II

d. eglesvenev e. alewL GaMuwelsvemev

Which of the following statements are true?
L. Qutbuddin Aibak began his rule by establishing Lahore as the capital of his

kingdom
II. Qutbuddin Aibak built the Quwwat-ul-Islam Mosque in Delhi
a. I only b. II only c.bothIand II
d. None of these e. Answer not known
SPHHMIL FnBpIseney Ffluimerene eleneu?
L. GIHLUDHT WS OTIFMISH HMeUBDBITHDS BTN HOIH Dl Femuld OHTL mIslenT
IL. GHUHET MUS 6L 606eluled GH6laIs-2 60-BerO6VMD 6IID LDGHemUIs &L 196TTiT
a.l w’@Gw b. II w’ (G c. ] wpp II
d. egiedsvenev e. alewL Gafualsdenso
Who among the following rulers of slave dynasty shifted his capital from Lahore to Delhi?
a. Mohammad Ghori b. Qutbuddin Aibak c. [ltumish
d. Sultana Razia e. Answer not known

eitou(hld Slgewld  aulbF L FwimeniTdeiled WIT HIGH HewevhHemJ 60Tdflel(HHEH O 60605HE)
omBplwg?

a. (psiogl Gl b. GHuSeT MuSH c. @availay

d. sevgrerm gduwim e. alewL Gaflualsdenso
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49.

50.

51.

Choose the correct statements about Iqtas

L. Igta is the land granted to army officials in lieu of a regular wage

II. The igta holder is called the Iqtadar or Muqti who had to provide the sultan with
military assistance in time of war

II.  The Iqgtadar collected revenue from his Iqta to meet the cost of maintaining his
troops and horses.

a.1,2 b.1,3 c.2,3 d. All of these e. Answer not known

@55;5%5611 umgﬂm gflwrenr gnpmpamend GCHTHOHMH
@&sT  eeiuzkl  JTamied  SiFHenfeendd  aupmsluL  Geuewnigul  ea&luisHHBEHTH
CaTHSHaUILLL  BlevTGLD

2. BevHMBHL GUBBT DEHTHTT DIeV6VSHI (S CTEGIBMPSSILLLTT. Seul GUTTESBHTeLHIH6NT60
FOSHTOIHG JTamlel 2 FHalsel GFuiu GeuswiBld

3. SHOIGH  UMLISMEMUD GHHDIHMenD UFTofluSBETe DESTHTT  HOISEG — eUPRISILLL
Blevmisamed(hha aufleuded CFUIHICST6TeUTT

a. 1, 2 b. 1, 3 c. 2 3 d. @mal oaisad e ol Oxflwalevenen

How many pairs are correctly matched?

L. Balban - abolition of the forty nobles

I1. Tughri Khan - provincial Governor of Sind

II.  Itumish - Establishment of department of spies
IV.  Hulagukhan - Grand son of Chengiz Khan

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SLPDHSHENIL UBMIGT 61HHMe Eenewidel FMwimes CUTHSSILIL (Beierner?

L. umedLIedT - BIBUSeUT LFYSHeT LfldsLiLbheHe0

II. HldMe0mmen - Hb LDTHTET  DhLEVHHIT

I1I. @eogIfled - PBMTH6T HIMB HBlULILBHSHD

IV. GVGBT - CFmidervdmeie GLyer

a. @1 Beneuwt b. &m Smewnisei C. CLPGIEI B)6n6ulIH6T
d. piesie; Qmeniseln e. alewL Gafuwealsvemsv

Choose the correct statements

L. In 1303, Alauddin’s army over whelmed the Rajput army in Chittor and in the
context of threat of defeat, the men and women of the fortress performed the rite of
Jauhar

II. According to the custom of Jauhar, left with no other way to survive, the men
would go out and die in the field of battle and women would burn themselves on a
pyre.

a. I only b. IT only c. BothIand I

d. None of these e. Answer not known

giwme smBmismensd Csiey Gauis

L. 13035y Suemip  FH@Mied JregUSIHITL  LIHL ST  Sle0Ta SN  LINL &6 SHenBgsHs

Bemsoulled CapmevalwenL HHalBHGeauTd 6163 GeVed CHTLMLSH@GH6T EHHSH Sl aU(HLD
QUemT(HLD EUABT eTETILIBLD FLMINS [HL &IeorT

II. QEIABT eID FLEGLUY S euT GurlienLenw all® GeuefGupst Gunitdsenddleo
LOTeTeUT. QUeNIB6T HULSGHSH SHISM6T LOTUISHSHIS OBT6TeuT

a.l w’@Gw b. II w’ (G c. ] wpp II

d. gaidevensv e. alewL Gz fuwalsdensv
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52.

53.

54.

55.

How many pairs are correctly matched?

L. Devagiri - Yadavas

I1. Warangal - Kakatiyas

III.  Dwarasamudra - Hoysalas

IV.  Madurai - Pandyas

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SpHHmILaummlen Ffluwmsll QUTHHAU EeneTTH6T  615H3Hm6

L. Bxheudi - WTSHAUTHET

II. QUMITRIGHED - BTHFHWITH6I

II.  sengewsarn - CamTuiFTenTaHei

IV. D16 - LITGTIQUITERGIT

a. @f Beneur b. &m Bmeanse C. CLPGIHI BN 6uTSH6
d. s Dmenisel e. alewL OHfNwaledenew

Choose the correct statements about Muhammad Bin Tughlaq
L. He shifted his capital from Delhi to Devagiri
II. He also renamed the Devagiri into Tughlagabad

a. I only b. I only c. Both I and II
d. None of these e. Answer not known

(Wwag e sibend uppdw sflwner swBpisenend CxHiTe GCFuls

L. SHH HMebHMI OLevelulelmbal CxHeudfea rmplerT

II. BeuT Cpoudiullesr QWD HISETSTUTS 6160  LOTHHSGITT

a.l -G b. II w’ @b c. ] wpmio II
d. gsidevemev e. alomL Oz fwailsdenso

Arrange the following in chronological order

L. Foundation of Tughlaq dynasty

I1. Died of Muhammad Bin Tughlaq

III. ~ Madurai became Independent Sultanate

IV.  Bengal became independent

a. L II, IIL, IV b. L IIIL IV, II c. LIV, 1L II
d. LI 1V, I e. Answer not known

Uaieu(pld HlsLbeysmener STevaullensliLbhHsis

L. SlHens aUbsD HBeUlILIBEH60

II. (PSBLOBHISTE HIH6NHEI6T SMBLIL

II.  wze] ST SEOSTENITS 2 (HEUTHE0

IV. amstend &sgsbaToreis

a. L II, IIL, IV b. L IIL IV, II c. LIV, 1L II
d.LII 1V, I e. alawL G fwaledenso

Who refused to accept an invitation from a Bahmani Prince to intervene in the affairs of
the Deccan in 1365?

a. Ghiyasudding Tughlaq b. Muhammad Bin Tughlaq

c. Firoz Shah Tughlaq d. Muhammad Khan

e. Answer not known

1365860 HbaTemill LigFgemarseled sHemeoul Geuswipld ererdGsl (b UMl SemeuysT albhHs
DI MBS WIGHHEUT WImT?

a. FWNEHHT HidHend b. waswg e sisend c. UGrmeagm Hidbend

d. waswg sre e. alewL GaMuwielsvemev
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56.

57.

58.

59.

60.

61.

Arun lent 5,000 to Balaji for 2 years and 3,000 to Charles for 4 years on simple interest at
the same rate of interest and received 2,200 in all from both of them as interest. Find the
rate of interest per year.

a.3% b. 5% c.8% d. 10%e. Answer not known

SI(HEWT  eTeTLIGUT LTeVTE) 6TILIeI(HHE 5,000 83 2 SUewIBHEHHGD FiTeverd eTaTLa(hBEG 3,000
® 4 WBaEEGL @61 FHalally eainsHHed eupmdeamnT. e Cwrsswrs 32,200 &
AL QUITE OHeT GUBBTT aefled, aully IHHMHdH HTEwIH.

a.3% b. 5% c. 8% d. 10%e. alen Gxfwaisvenso

Two equal sum of money were lent at simple interest at 11% p.a for 3 72 years and 4 %2
years respectively. If the difference in interest for two periods was 3412.50, then each sum
is

a. 33250 b. 33500 c. 33750

d. 34250 e. Answer not known

Bm g0 OFTdHeT 3V ewiBHeT LHBBID 42 YWBHHEHESG WBBW SLEBHG 11%
a3 SHeleully IHHIHED SLOMS UPRSLILULLSG. GTauiyB@&oTs ey alsHlwrgd I412.50
o166, DISOGHTENBH66T DS

a. 33250 b. %3500 c. 33750

d. 34250 e. alen OxfNwealsdensv

Riya bought X 15,000 from a bank to buy a car at 10% simple interest. If she paid X 9,000 as
interest while clearing the loan, find the time for which the loan was given.

a. b years b. 6 years c. 7 years

d. 8 years e. Answer not known

flwim  eTeTLeuT A WPHS! aMEIGSBETE Rs.15000 g3 10% sl ly 6B aihsHdled HL 6Ll
OumpTT. oeuT Rs.9,000 |m& sLwen (WRESLD HHeuTuled, eulluITedF CFasHHeIT eleafev,
SLMIL LWATLBSHHW STe0HMSHDH Hemihd (Bob.

a. 5 o ewiBsar b. 6 syewIBHe C. 7 SLemiBebelt

d. 8 syemiGsar e. el OsMuwealsvemen

A sum of money triples itself at 8 % per annum over a certain time. Find the number of
years.

a. 15 years b. 18 years c. 25 years

d. 37 years e. Answer not known

Rk GPUILL oForais 8% el afdsHe aHdHmer LIBHeNed LPSIE DL BISTGD 6T6eIdh
SHITewTes?

a. 15 syemi@eel b. 18 syemi@ael . 25 o ewiBHe

d. 37 eyewiBsel e. alewL O MNuwelsvemen

9 .. . : . . .
A sum of money becomes c of itself in 5 years on simple interest. Find the rate of interest.

a.10% b.12% c.19% d. 16%e. Answer not known

kb GPYUILL QzTeswrag Sl el aldssded 5 ouembaeaiso 9/5 WwLhETEBs eaie,
Al aiHHmSB HWILMIUIALD.

a. 10% b.12% c.19% d. 16%e. alewL Ozfwalsienso

Choose the correctly matched pairs

L. Khizr Khan - Founder of Sayyid dynasty

I1. Timur - Plundered Delhi in 1310

III. ~ Bahlol Lodi - Governor of Punjab

IV.  Alauddin Alam Shah - last ruler of Sayyid dynasty
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a. [ II, III b. II, III, IV c. [ IIL, IV

d. All of these e. Answer not known
gilwnes QUTHHHW Benentdemen S sls
I HFATHTOHT - MHFWLFH QUDFHMS BT

II. MSHPT - 1310860 OIevedlent QBTETENETUIGSH ST

I1I. UBeUTeL Geumlg — LIMIGTLI  SLGHBIT

IV. soomedear Qe a9 — vFuldl aubgFsHHer sl d QST

a. [, II, III b. IL, II1, IV c. [ IIL IV
d. Bweu SiemensHHID e. alenL Gafwealsvenso

62.  Arrange the following rulers in chronological order
I. Alauddin Alam Shah II. Bahlol Lodi

III. Sikandar Lodi IV. Ibrahim Lodi
a. L IL III, IV b. L IIL II, IV c I L III, IV
d I 1L I IV e. Answer not known

Welteupd ot Fwmenisenend SreveuflengliLbBsHais
[. seoTaHeT SLeDOT II. useumed Gsurmig

III. fsahaT Geumg IV. @ugrn&lib Gsvrmig
a. L I, I, IV b. I, III, I1, IV c. I, I, III, IV
d. IO IL I IV e. alewL Gxfuwailsdensy

63.  Choose the correct statements
L. Sikandar Lodi founded the city of Agra and made it his capital
I1. Ibrahim Lodi was defeated by Babur in 1526 in the Panipat battle

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

gilwmen snBoBIBmend CabHoSHMH

L. HeaphsT Goomy SEIT BHMJ HITOTNHSH HHHEHMTH HMEUBST O T
II. @ugralb Geomg wTUITEL 1526860 LMLl CuniTdsensHled CHTBaIQEHSIILIL LT
a.l w @ b. II wi @G c. ] wpmo 1T

d. gsudevenev e. alewL Gxfuaisvemsv

64.  Arrange the following rulers in a chronological order

I. Babur I. Jahangir III. Akbar
IV. Humayun V. Shahjahan VI. Aurangazeb
a. L IL IIL, 1V, V, VI b.L IV, 1L I, V, VI c. L1, 1V, V,1I, VI
d.LIIIV,III, V, VI e. Answer not known
elteupd ot Fwmenisenend SmeveuflenaliLBsHais
I. umuir II. smemrmigsT III. ssur
IV. anfiomuyesr V. agresnes VL. genmgmisdil
a.L 1L IIL, 1V, V, VI b.L IV, 1L IV, VI c. L1 IV,V,II, VI
d.LIIIV,II,V, VI e. alenL  GaMuwiaisvemev

65.  Who was arrived in Kabul to seek Babur’s help in removing Ibrahim Lodi from power?
a. Dilawar Khan b. Alamkhan c. Sikandar Lodi
d. Bothaand b e. Answer not known

OLeved aeLFHTer BUgTadlid Geumgenwit ugalenw ol B Bhs, uTuflar o FHalomuwids CaL(B BT
QUHSHEUT WImiT?

a. &eOTeuTETel b. syeobasmes c. FeabhaT Geury

d. a wBmb b @yewiHid e. alewL Gxfuialsvemsv
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66.

67.

68.

69.

How many pairs are correctly matched?

L. First Battle of Panipat - Ibrahim Lodi and Babur

II. Battle of Khanwa - Ranasanga and Babur

III.  Battle of Chanderi - Medini Rai and Babur

IV.  Battle of Gaghra - Babur and Nusratshah

a. One pair b. Two pairs c. Three pairs
d. four pairs e. Answer not known

SIDSHHWIL UBBIGT 61HHeneT Denewidbel Ffluums GUITHbHIU6Temer?

L. WHeo umeiul Gum - @ugmalib Geomg LOBMID LITLIT

IL. &esteum GUITT - JTERIT FMIST LOMBEID LITLT

OI.  spGsf Guni - Gudelgmul ommid Lmu

IV.  smagm@umm - umuT WwBEID HevySHaaT

a. @f Beneur b. &m Bmenismei C. CLPGIHI BN 6uTISH6T
d. s Dmenisel e. alowL GaMuwelevemev

Arrange the following battles in a chronological order

I. Battle of Khanwa I1. First battle of Panipat

I1I. Battle of Gaghra IV. Battle of Chanderi

a. I, I, III, IV b. 1L I, IV, I c. Il I I, IV
d. IL 1V, I III e. Answer not known

Spdbaeeni GuniTasmen sTeveuflengILBSHHIS

[. seteur Gurm II. wpzxHed umeiul Guir

1. sréym Gur IV. #p8sfl Gumit

a. [ I III, IV b. IL, I, IV, I c. I I III, IV
d. IL 1V, III e. alomL G Mwaledenso

Choose the correct statements about Shershah

L. During his brief reign, he built an empire stretching from Bengal to the Indus,
excluding Kashmir

II. He introduced an efficient land revenue system

III. ~ He built many roads, and standardized coins, weights and measures.

a. L1l b. 1, III c. II, III d. All of these e. Answer not known

CeagTagr uBBw sflwmer sBpieemensd CHiTs

L. S0H  GUBW  HTev L Fuled eURISTEND (PHeL FhHlaueny SHTAJST  BhHIG6TH

urelulmbs @ Cuigensd o (hHeuTdhaleiT
II. H6LGL LIWLIEMETSH SHIHD @ Hlevalheumul (Wenpuilener ISP CFUISTT
I11. BTEOTLIMISEN6NULD BBIHHEV, (PHHHE0 DIEMENeUSMETUID ST DleeyLILIBSHS6ITT
a. L1l b.1, III c. II, III d. Bmau gmardHHId e alwl O flwalsieneo

Choose the incorrect statement/s
L. Hemu, a general of sur dynasty, captured Agra and Delhi in 1555
II. Bairam Khan defeated and killed Hemu in the second battle of Panipat in 1556

a. Il only b. I only c. BothIand II

d. None of these e. Answer not known

SHUDBTET FnBpIBHmend CHiTd

L. GTaUbFsmeF Bsibhsh OCamlp eaimid Hemudl 1555860 GILeveleMUIL|D  SLETTEneUULLD

mSBLILBSIS  O\BTemTL T
II. UITDETD 1556 b opewiged @ewiLmd umefiul  Gumfled Gampenen CHTBHISHHIS

OCaTespmiT
a.l w’@Gw b. II w (G c. ] wpp II
d. gaidevensv e. alewL GaMuwealsdemev
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70.

71.

72.

73.

74.

Choose the correctly matched pairs regarding the boundaries of Mughal Empire under

Akbar’s reign
I. North - Kashmir
II. South - Kaveri river

II.  West -Kandahar

IV.  East -Bengal

a. [, II, III b.1I, IV c. L III, IV  d. All of these e. Answer not known
SIGLT QY FleamedhdHed @ mhdH (WwHeomwll Guprdler eevemevdel GBS Fllwmsll QuUTHHHW
BT H6IT 6Ten6U?

L. AULEG - HTAUST

II. CaBe — &Gl Sl

OI.  Gumbe — smbhasmt

IV. duwdsg — eumismend

a. [, II, III b.1I, IV c LILIV d. gmea gmassid e. ool 0sflwualsoemeo

Who was gifted a plot of land in Amritsar from Akbar where the sikh Shrine Harmandir
Sahib was built later?
a. Guru Ramdas b. Guru Dayal Das c. Guru Arjan Singh

d. Guru Tej Bahadur e. Answer not known

wnpdb@ STy grdled  oiBuUT uflgns eupmd G SHFHeosmar  Leialm anTibsT FTsll
S(Heuens S L Ll Lg?

a. & JIbSHTerd b. ®&m swmer e C. &M SlTeyrsr Fml

d. &m Gs®y usgmt e. alewl Gafuwalebenso

Choose the incorrectly matched pair

a. Birbal - Storyteller b. Tansen - Great composer and Musician

c. Daswant - Artist d. None of the above

e. Answer not known

SHauUBTal QuIBHIHW emenianuwld CaihosMm

a. iumed - smg i b. sraiGge - urLeordfwT wBpId BewaCuwend
C. Hajauh - @elwiT d. GumampPlu gHIdlevemen

e. alewL Oxflwealsvenso

Choose the correct statements

L. Jahangir granted trading rights to the Portuguese and later to the English

II. William Hawkins a representative of King James I of England, visited Jahangir’s
court

III.  British established their first factory at Surat

a. [, II b. I, IIlc. II, IIT c. I 11, III d. Answer not known

gilwmen gmBpIBmend CaHiae

L. oapThsST  CUTTHHISSFWHBGWD Lo QrSGowTaseEnd@lh eaamied o fenndemer
GULDMIGS|GUITIT

II. @rgeonhe OFFT (WHeomd GCmbdlen LFHmglwmer alsbedluid amTHsl6en eammmis e
SITFMUDHG UHDS LITIHSHTT.

IOI. o m&GwiTseT SRS (PHev eUemiE MLWIGHMS EIHH60 HBIONTT.

a.L 1l b. I, Ilc. I, 1T c. I IL III d. eflen G Nwelsenso

Choose the correct statements about Aurangazeb

L. He assumed the title Alamgir

I1. He tolerated no religion excepting Islam

III. ~ He re-imposed the Jizya tax on Hindu

a. L1l b. 1, 1II c. II, III d. [ II, ITII e. Answer not known
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eMImsF uppslw gflwmer sFBoisemensd Cxie CFuis

L. SLEVIDST 6THTEID LI L $He0G Gl 198 6\HTemTL T

II. Berveumiil HHMBHHHANT GMeTl LOFHHIGHM6T DT F&lHHIH0ETaTeTa]60m6D
II. @paisseie g Wewibh Fwm suflenw algHdbamt

a.L Il b. I, III c. IL III d. L 10, III e. alenL  Gafwealsvemnsv

75. How many pairs are correctly matched?
L. Wakil - Prime Minister
IL. Wazir - Incharge of the revenue and expenditure
III. ~ Mirbakshi - Incharge of the army
IV.  Mirsaman - Looked after royal household
a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known
SpHHILauBDIeT Flwmsll QUIHBHHUL SenerseT 616Hmen !
L. ausbse0 - Lgso bl

IL. ougsit - QUHAITUISSImB OBEBID OF6va|Herient QUITMILILITETT

I1I. TLIT &) - BITEIAISSHINB  DIHLOF ST

IV. LOT& Lo - SIJENILOGMET HITEUTHHMSH SHeuUaTLILIGUT

a. @f Beneuwr b. &m Bmenismei C. CLPGHTDI B 6uTHeT
d. preng Senemiamer e. alenL Gafwealsvenso

76.  How many pairs are correctly matched?

L Subhas - Provinces

II. Sarkars - Districts

III.  Parganas - Group of villages

IV.  Kotwals - Administrator of towns and cities

a. One pair b. Two pairs c. Three pairs
d Four pairs e. Answer not known

LelTeu(hHeuaTouBmIeT e1hHGHemet Devemidbern Fflwms GUmbbaueerner?

L. SLITSH B - LOTETETHIB6IT

II. FTHBMTHEI - LOTeUL L MRIG6IT

III. LIS T6mTTE 61T - Fymomseier GFHT@LILY

IV.  Garsseumed - bS] WLBBID CUHBST HiTeuTaslsern

a. QU Benewr b. &m Bmenismei C. Cpeiml E)emeunTgsert
d. piesie; Qememidel e. alewL Gafuealsvemsv

77.  Choose the correct statements about Mansabdari system

L. According to this system the Nobles, civil and military officials were combined to
form one single service

II. Mansabdar rank was dependent on Zat and Sawar

III.  Zat was the number of horses and horsemen he had to maintain

a. L1l b. I, III c. II, III d. [ II, ITII e. Answer not known

werglismil (wemp uBPslw Fflwner aBpiIsenensd CxHiTe] GFuls

L. Bwenpuier S Lgysser, Jramied SiFHaThasT @lgenolitent SidHaraeT o alGuimfesr
uemide eeipl GaFTdasliul’ (b @Gy uemiwTs LOTBBLILIL L 6

II. LOIFLISTT ST, Feuml eI B QILWMISMeNSF SiThHH(HHIH6T

I1I. gl ee@iugkl @ waiFlsTT  ugmoflés  Ceuswiguwl  GHIHen,  GHenyaiyiTaere
cTeuTem beNBMWSH GSMILILSTGSLD.
a. [ Il b. I, III c. IT, III d. L IL III e. alewL Gapfwalsdenso
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78.

79.

80.

81.

82.

Choose the correct statement regarding land revenue administration of Mughals

L. Land revenue administration was toned up during the reign of Akbar

I1. Raja Mansingh, Revenue Minister of Akbar, adopted and refined the system
introduced by Shershah

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

(Wp&HeoTWTHellesr BlevaumeuTul HiteuTsld uppsiw sflwrer smBoiseend Bxie CFu1s

L. obufler s duller Gurgl Blevaumeurul MiTeuTsld FIFenoHSUILL L G

IL. SIGUMET  UHATUISHSHIDD  DIWFFTT  gregmonet  Fml OagTagm  ofl(psd  OFUIg
(wempenwlll LeuBplent. ibpenmenwl Gevid &1 QFUIgSTT

a.l w’@Gw b. II w’ (G c. ] wppw II

d. gaflebensv e. alewL OQFfwalsdensv

Choose the correct statements about Jagirdar system

L. Under the system, the collection of the revenue of an area and the power of
governing were bestowed upon a military or civil official named jagirdar

II. Every Mansabdar was a jagirdar if he was not paid in cash

III.  The Jagirdar collected the revenue through his own officials

a. L1l b. I, III c. II, III d. L II, III e. Answer not known

QTHTHTT (s uBBlw sflwrer sBpismens Caiey OQFuis

L. @uwuwampullear &S GRIUILL @ uGHuled Heveufl  eu@Eed GaFuiud  GuITmILILD

SILILIG el HiTeusHGLD QuITEILILD Srremiey SI6L6VG) Flalled LNl
QUUMLSSLILULL & DeuCy sMnaTHIT el

II. SHhIBENH 2FHSHmPL LewIoTd CGUBTEH @elbleun(h LOGIFLIST(HLD MTSHTHTT SLeumiT

[II. ereistm s gHsriser cpeld Beveufledwl auEed QFUISTT

a. [ Il b. I, lc. I, ITI d. L II I e. allewL  Osfwalsvenev
During the Mughal period the revenue collector of the district was

a. Potdar b. Qanungo c. Mugaddams

d. Amal Guzar e. Answer not known

(PSHEOTWIT STeVHHe0 oTaul L jenaieomer eaufleuged Siglsml

a. OumLmgmr b. samGsT C. (PSHBTHLD

d. sufed @egit e. alewL Gafuelsvemsv

Which of the following were built during Akbar’s time?

i. Diwan-i-khas ii. Diwan-i-Am iii. Panch Mahal
iv. Salim Chishtis tomb v. Buland Darwasa

a. 1, ii, iii b. ii, iii, v c.i,ii,iv, v

d. All of these e. answer not known

LeiTeu(hHeUaTeUBmIOT SISLT STeVHH60 SLLLILIL L eheu 6Tene?

1. FHeureir-@-sirerd ii. FHeurer-&-oud iii. LEhFLOAMBTED
iv. 680 Hlerdiguilesr &6L6VEMM V. L6UbSHTeUTET

a. i, ii, iii b. ii, iii, v c.i,ii, iv, v

d. Bmeu SiemensHHID e. alenL  Gafweaisvensv

The beautiful building containing the tomb of Itmad-ud-daula at Agra was built by

a. Akbar b. Jahangir c. Shahjahan

d. Aurangazeb e. answer not known

SLBITAIIETEN 2 5-GigHemevTalell H606VMBUL 6T Fnlgll DIPH U HLIQL HMBHH HLIQUIGIT?
a. SIBLIT b. mammmigST C. QQTERHTEH

d. @emymisdL e. alenL Gafwealsvemnso
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83.

84.

85.

86.

87.

Choose the correct statements

L. Nammazhwar’s fame lies in his 1102 Stanza Thirumozhi

II. Nathamuni collected the 4000 poems of periyazhwar in the form of Divya
Prabandham

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

gflwrer gappIsemend CaHiTHOHMH

L. BOWTDaTT SieuT BuiBBlw 1102 uGHHHenend OBTewIL  SHHauTWIGTHWTEd LSDEUBBITT

II. Quflwmpeunflesr 4000 uTLeb&demen HTeLTUITD Seualwll LUgubs D eamid Guwifled BTSH(LeoT
CaTHHHI6TENTIT

a.l w @ b. II w @b c. | wmpd II

d. ergieyflsvenso e. alenL Gafwealsvenso

Periyazhwar is said to have fond Andal as a baby in the Tulsi Garden at

a. Srirangam b. Kanchipuram c. Mayilappur

d. Srivilliputhur e. Answer not known

absd Bamaled @HMHASCHTLLGHFHe0 OuUilwTDeUTT SLewiLTemend  GHMBWTEHS SR BHSDI
SNFH GWHMBHWTS GBBISOSTERILHTH FpLLGEBSHI?

a. ufymisid b. srehdlygid C. ufeomriyT

d unfelevediiidhami e. alewL OxNwealevenev

Adi Shankara set up Mathas Centres of learning and worship at

a. Badrinath b. Puri c. Dwaraka and Sringeri

d. All of these e. Answer not known

AFHFRST SBLUGSGD WOBBID aPOLT. B WIDTSS SHEPD oL MmiSmeT Bpelul @ b
a. usfprs b. y C. st wBpid FHhGH

d. GuBsmpu SwaSHHID e aloL Gfwalsdemnen

The simple interest on a sum of money is g of the principal. Find the rate percent and
time, if both are numerically equal.

a. 5g %, SEyears b. 7g %, 7g years C. 6g %, BEyears
3 3 3 3 3 3
d. 6% %, 6% years e. Answer not known

@ GBUILL OxTensuie Heleul pumeaidl oig60er g LGS FWWD. UL QATSHIPD, 6U(HL (LD
eTewl 60 FwowTd HBGWOUTH allly aIHHMBUID UHLHWHSUID SHT6wI.
2 2 2 2 2 2
a.5— %, 5— s Bl b. 7= %, 7— simiBase c. 6= %, 6— syemIB®B6N
3 3 C 3 3 b C 3 3 ®
d. 6%%, 6% SLWTIBBH6IT e. allenL  Gafwealsvenso

Find the simple interest on Rs. 10,950 for 42 days at 10% p.a

a. Rs.116 b. Rs. 74 c. Rs. 126

d. Rs. 108 e. Answer not known

. 10,950 6IFIB DFNGBG 42 BT SeMed YewigB&G 10% Saflai g (pedpuied Sl GG el iy
616116161T6Y 7

a. Rs.116 b. Rs. 74 c. Rs. 126

d. Rs. 108 e. alewL OxfNweaisbensv
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88.

89.

90.

91.

92.

Imran deposits 400 per month in a post office as R.D. for 2 years. If the rate of interest is
12%, tind the amount he will receive at the end of 2 years.

a. %10,800 b. %18,000 c. 310,080

d. %10,880 e. Answer not known

BTeT T  SlehFdsHHe0 12% el lguled @aiGeur wrHUpd Rs.40083 2 LGB EHHGHF
CFashd aubHTT. BTenih eWIBH6T (PIRaled SaUHHGHH HMLHGHD OHTHHMUIS HTEIA|LD

a. %10,800 b. %18,000 c. 310,080

d. 10,880 e. alewL  O&Muwalsvemen

The rate of interest on a sum of money is 4% per annum for the first 2 years, 6% per
annum for the next 4 years and 8% per annum for the period beyond 6 years. If the simple
interest accrued by the sum for a total period of 9 years is Rs.1,120. What is the sum.

a. Rs.1,500 b. Rs. 2,000 c. Rs. 2,500

d. Rs. 4,000 e. Answer not known

Rh CFHTMSHBTN  aUBL 'y WHo BIaiG MBLSHDBG 4% psald AGHS HIGIG
AUBLSHBG 6% SpFad B UBLEGSEHEG Ged 8% b o 6Tengl. @b GBIuilL
CBTmSHHTO 9 QUHL STVSHIHMBHTRN Hafeullg 1,120 6Ielled DIHOHTENHMUI  SHT6H0I.

a. Rs.1,500 b. Rs. 2,000 c. Rs. 2,500

d. Rs. 4,000 e. alenL  Gafuweailsvemnsv

A man invested % of his capital at 3%, % at 6% and the remainder at 8%. If the simple

interest for 2 years from all these investments amounts to Rs. 600. Then the original sum
was

a. Rs.2000 b. Rs. 3000 c. Rs. 4000
d. Rs. 5000 e. Answer not known

RHAUT  HAGH  LPEVSHE S 60T % WLEDS 3% Ul 19dhEGLD, % wLEemS 6%  eUllgHELD,

BHHOBTmBMUW 8% U I9HGD (PHeSH CFUISMBIT. SIHET cpeolD SieUT 2 YWIBHEHHS 0h.600
CUDIFBTT eTalled DUT (WPHSB CFUIFH CLoTHs CFHTnd 6leialene]?

a. Rs.2000 b. Rs. 3000 c. Rs. 4000

d. Rs. 5000 e. alenL  Gxfuweailevensy

A temple for Lord Krishna on the Goverdhan Hills near Mathura built by

a. Ramananda b. Tukaram c. Vallabharya

d. Chaitanyadeva e. Answer not known

wHITHGH DAHCH CaTauTHel GHIBIH6TL BH(HagemLsaTmISG @ CHTalensy DIEMLOSHHT?
a. JmmehiT b. sidbsmymbd C. GUGLEVLITEFTITUIT

d. ewestaw GmHeur e. alewL Ggflualsvenso

Choose the correct statements about Meerabhai

L. She was wife of the crown prince of Mewar

II. She was an ardent devotee of Lord Krishna

III. ~ She gained popularity through the bhajans

a. L1l b. I, III c. II, III d. all of thesee. Answer not known

Wymumws upplw Fflwmet gaBmiIsenensd CaiThol%HH

L. Guoeur™ BTLIge LI L G Bemeugaiileir Loenesta

II. BHmagemiLisauTaier SHaly LHmd

I1I. GaIHML U LUNET LML 60&H6IT (LP6VLD LNTLIGOLDTGITGIIT

a. [ II b.1, III c. II, III d. 8mar gmarsHHn  e. el Gxflwaisveney
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93.

9.

95.

96.

97.

Choose the correctly matched pairs

L. Chaitanyadeva - Bengal

I1. Ramananda - Spreaded Bhakti ideologies in South India
III. ~ Tukaram - Maharashtra

a. L1l b. I, III c. II, III d. L II, III e. Answer not known
gflwres QuUTHbHW Bmansaner GHiTe

L. MFHATWLBHUT - GUBIBLD

II. JTDTEMhSBT - U CsmeTendsamen OHar @baHuimaled LFliiluwieuT

I1I. BIBSBMITD - LDBTTTAUQTLD

a. L Il b. I, III c. IL III d. L IL III e. alewL OaMwaleenso
Sufism was basically Islamic but influenced by the ideas of

a. Hindu and Jains b. Jains and Buddhists c. Hindu and Buddhist
d. Sikh and Hindu e. Answer not known

GLuferod  SigliemLufled  @erveomllwGHmeSF GCFTHHITH BHHSTVID  DIHETLEH

FOWS HHGHHSHNET HTHBHMBL CUBBIHHSHH!

a. ©bH LBEBID FLO6GWT b. gwewr wBBID CUETHS C. Bba wBBID CueTsHs
d. F&dw wBoId BHS e. alewL OGxflwailsvensv

Choose the correct statements

L. Moinuddin Chishti made Chishti order popular in India

I1. The best known Sufi sage of early medieval period was Nizamuddin Auliya

III.  Amir Khusru was one of the followers of Firdausi sect of Sufism

a. [, II b. I, III c. II, IIT d. All of these e. Answer not known

gflwmen gnBpIBevend Cairs

L. Gomuignghest dervlg, Ferdly Siewolient BpbFHuimalsd LlFLeOLDTSS 6T

II. ML HBT0SHSHE  OHTLESHH60 BASBIWILLIHHS Fevly SwwlmUE  FTihEH Gl
HTLPSH6T  SieeVIwIT

I1I. SISt e GUulevgder LTexHend Lfleneuls Llemumnseorir.

a. [ II b. I, III c. II, III d. Bmeau oiemenH i e. alew OxMwaledenso
Sufism gained prominence during the reign of

a. Rajputs b. Marathas c. Delhi

d. Mughals e. Answer not known

GLlullerid (oS gieud GLBB o Fobaemeuld

a. BUmmLSHriTHei b. wyréduirsei c. GLeded

d. waseomwirser e. alewL GafNuwalsdenso

Consider the following

Assertion (A): The Gurunanak corridor was constructed by Indian Government that will
link the Nanak shrine in Gurdaspur with Gurudwara Darbar Sahib at Kartarpur in
Pakistan

Reason (R): To commemorate the 500t birth anniversary of Gurunanak

a. A andr are true and R is the correct explanation of A

b. A andr are true and R is not the correct explanation of A

c. AtrueRfalse

d. A false R true

e. Answer not known

LetTeu(hHeuaTeuiBens LIS

aBm  (A): Grsreoyfevsten  mrensGsmalsd, LTdeogTaler STHTTLA0 2 6T6m  @GhSHeumyT
STumT  grdll  SrewienLujld SmeudGlh  aumdulsd @BF  OIF  HOLUTDS  QeTenmd
BLIQU |GG

smewid (R): B& @mprasder 5006us LIBHS BTeneT HenaiadmBid auensuisd BmieuliL L g.
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98.

99.

100.

A ppid R s woppib R eaeug A alBg sgflwmer ailendsid

A wpmd R @ opmid R eemug A alBg sflwmer alendsinsden
A sl R seaum

A sam R &

alenL Gz fwealsvenev

oo oe

Choose the correct statements about Bhakti Movement
L. Bhakti movement was a movement of the common people
IL. It used the language of the common people

III. It opened up space for Indian languages to grow

a. [, II b. I, III c. II, III d. All of these e. Answer not known
usd Bussd uppw Filwmer gBpIsmend CxHTe] CFuls

L. UsFH BussD FToTENW LSS QUISHSHIOTGLD.

II. Beaialwsad 1sHsefler GomPenuwiCuitl LweaTUBSHS wIg

. @pfHu Cwndss aeTugBeTar B GHme Bealubsd gHUGHHHCHTHHHH!

a. [, II b. I, III c. II, III d. @mer SimeaTHSHID d. elewL Gsfweieoenso

The term “Yavanapriya” mentioned in Sanskrit texts denoted

a. A fine variety of Indian Muslim

b. Ivory

c. Damsels sent to the Greek court for dance performance

d. Pepper

e. Answer not known

FLoe0&(HhE HITeUs0 ‘Weuariflwim’ e auTTHensd 61md GHNHIBEHI?
a. @bFHw (perveSibaelell HILoTen GILIMHL &I

b. gpsib

C. 38ss SlmeudHE BLOTHIHBEHTE DIDIIULILILL  LOGOILOTSTSH GlLieust
d. Bene

e. alewL OGFMwealedenev

Which of the following were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment

2. Indifferent to the authority of the Vedas

3. Denial of efficacy of rituals

4. Non injury to animal life

Select the correct answer using the codes given below:

a.1,2,3and 4 b.2,3 and 4 c.1,3and 4

d.1and 2 e. Answer not known

SpbHemILauBmIeT  6hH  GMIILUBET LHDH WLHHIHBGSWD FOeW FOWSHBGSD OCUTHIUTHISTS
SHBLILBHBSHI?

l. Mpmwdgsd CHbsHed wB@Id SHsCUTshibamsn DIMILATSSTON (PBBIIOTES @HIohESH6V.
2. Gougpzme HBTTTHEHEHTH DigLemILl LOBISHSH60.

3. Geusitalluilenmmed LILIGHT 6T6IIM OBTETENHENUI  LOXIGHFH60

4. euealleVmIGHM6NT HIGTLBIHSHTIO60 E)(HdHFH60

SpHHMIL  GBIUeT SHiewenGuin® gflwmer UHmeL H(HP.

a.1, 2, 3 B 4 b.2, 3 wBpwb 4 c. 1, 3 wBmb 4

d.1 g 2 e. alewL OFfwalsdensv
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101.

102.

103.

104.

Match List I with List II

List 1 List II
A. Vishakhadatta 1. Medicine
B. Varahamihira 2. Drama
C. Charaka 3. Astronomy
D. Brahmagupta 4. Mathematics
A B C D
a. 1 3 4 2
b. 2 1 3 4
C. 2 3 1 4
d. 3 4 1 2
e. Answer not known
QUTHSHHIS.
ey 1 fey 11
A. algnssHHT 1. WHSHSBIED
B. aumyras10lym 2. [BTL&LD
C. gy 3. auTeaiuled
D. Qg @usT 4. HewiHLD
A B C D
a 1 3 4 2
b. 2 1 3 4
C. 2 3 1 4
d. 3 4 1 2
e. alemL OFfluaisoensv

Which one of the following scripts of ancient India was written from right to left?

a. Brahmi b. Nandanagari c. Sharada

d. Kharoshti e. Answer not known

LGN SHHTe0 BhHFHWTaled BPHEHMIL 61(DSHHIHHET60 6D 61(HHI evHl LBSHHeN(hHhHAH GL &l
LBLOTE  61(LRSLILIL (H6ITerTeT.

a. Ui b. mhHse@T C. FMISHT

d. &@ymerdg) e. alowL Oxflwalsvenev

Milindapano is in the form of a dialogue between the King Menander and the Buddhist
monk
a. Nagasena b. Nagarjuna c. Nagabhatta

d. Kumarilabhatta e. Answer not known

WIS  6leiLgl  oadIeT  GeMbHHIGSW 6hd LUdHH SHpalb@Gilen G  GCoBbsmem
2 _MIWIMLED SGLD.

a. praGFert b. presiTegeem C. [BTSULLT

d. @wfleou L e. alewL Gafuwealsvemnso

The silver coins issued by the Guptas were called

a. Rupaka b. Karshapana c. Dinara
d. Pana e. Answer not known

GLUSTHeNTe0 OeuefuiL i’ L Geueitell BTewLISS6T GLIWIT 6TesT60r?
a. apUSBIT b. snitgmumest C. Slevmmym
d. urenm e. alowL Oxflwaleveneo
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105.

106.

107.

108.

109.

Which of the following are correctly matched?
1. Lothal : Ancient dockyard

2. Sarnath : First Sermon of Buddha

3. Rajgir : Lion capital of Asoka

4. Nalanda : Great seat of Buddhist learning

a.1,2,3and 4 b.2,3 and 4 c.1,3and 4
d.1and 2 e. Answer not known

SIpHHMILUBBIeT 615 FHwTd CUTIHHHS MBS

1. GoordHme0 - LIGRTENL_SHHT60 HL 6L 6UTEmIL  HeNLD

2. gMIBETS - USST (pHeiipdHeons Gurpemen GFulsh G Lb

3. gTM&ysD - 9I8FnHflert FMid HMEVBHBILD

4. BTMHST - USSHSHHET Hewev FmbhsH Hevaldnl LD

a.1, 2, 3 By 4 b.2, 3 wBpwb 4 c. 1, 3 wBmpb 4
d.1 wBgn 2 e. alewL OHfNwaleenew

The concept of Eight-Fold path forms the theme of

a. Dipavamsa b. Divyavadana

c. Mahaparinirvan Sutta d. Dharma Chakra Parvatana Sutta
e. Answer not known

aTewieulfl LoMT&ED 6hsd Camiumienl gl uwmsd GlamemrLgl?

a. Suelbgld b. Heiweugerm

C. waTURNDBITeUaT &iHHT d. SToFETUTTUSEIT FidhHT

e. alemL OFfwalsoemnesv

The Asokan major rock edicts which tell us about the Sangam Age Kingdom include rock
edicts

a.land X b.I'and IX c. IT and XIII

d. Il and XIV e. Answer not known

abd DCamafled QU SHeogHmewr HeLOIL B FhssTeL SFmd UBB GSUEILLINGEBE?
a. [ wmpd X b. I w@mid IX c. IT wimpnb XIII
d. IT w@pnp XTIV e. alewL OFflwaledenev

The following persons came to India at one time or another

1. Fa-Hien 2. I-Tsing 3. Megasthanese  d. Hieun-Tsang
The correct chronological sequence of their visits

a.3,1,4,2 b.3,1,2,4 c.1,3,24

d.1,3,4,2 e. Answer not known

SSHHEWILaUTH6T AbHwmalBg aleguid GuBosmei CeuefliBT (B Liulewl o6l

1. ur&luwimest 2. L dm 3. QL&ervHeterd 4. UJeumedT Gieuml
a.3,1,4,2 b.3,1,2,4 c.1,3,24

d.1,3,4,2 e. alowL OFflwalsvenev

Consider the following

Assertion (A): Asoka annexed Kalinga to the Mauryan Empire.

Reason (R): Kalinga controlled the land and sea routes to South India.

Both “A” and ‘R’ are individually true and ‘R’ is the correct explanation of “A’.
Both “A” and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’.
‘A’ is true, but ‘R’ is false.

‘A’ is false, but ‘R’ is true.

Answer not known

oo o
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110.

111.

112.

LeTeu(HeuaTaIiBens  DLUISb.

amupl (A): 918F1aT Helmis BT L Goemflwill CUITSHL 6T BeNerTHSHTT.

aryenid (R): QpaieibHumealBg CFaid HL6O OBEBID Heo WOMTHEHHMB HEURIBT  Hei
S (BUUTL 1960 m6USHH (HHSHIJ.

(A) oppd (R) @yemipd gfl, Guwed (R) etesiugy (A) aliB@ gflwmer alendosid.

(A) oppd (R) Syemipd gfl, Guwsud (R) eresiugy (A) alB@ Fflwmer alenshsd &ie060

A) 9, spemed (R) seums

(A) poumgl, spemed (R) &

allewL  OFflweaiedensv

oo o

Consider the following

Assertion (A): The emphasis of Jainism on non-violence (ahimsa) prevented
agriculturalists from embracing Jainism.

Reason (R): Cultivation involved killing of insects and pests.

Both “A” and ‘R’ are individually true and ‘R’ is the correct explanation of “A’.

Both “A” and ‘R’ are individually true but ‘R’ is not the correct explanation of “‘A’.

‘A’ is true, but ‘R’ is false.

‘A’ is false, but ‘R’ is true.

e. Answer not known

LT&T6U(HeUGTOUBEND DY UIs.

amBul (A):  gFwewr FowWHHeL o 6Ten Bbeng GamiurT® eleugTuiidemst FoewT FLOWIGHE 60
Boaiams 5653

amyenib (R): sm@uy 0smfedsd yopdsemenud, LFsmenud 6dmeben Geuewngul HITHILHILD
o _6wi(p.

an oe

a. (A) opgib (R) @rewid fl, Goaid (R) eeiug (A) alBg Fflwmer aflendsid.

b. (A) wppn (R) Brewipi &f, Gwsubd (R) eemg (A) olBg Ffluner alendsid 6060
c. (A af, sgyemed (R) seum

d. (A) seauml, eyemmed (R) &

e. alowL GaMweailsvenso

Emperor Harsha’s Southward march was stopped on the Narmada River by

a. Pulakesin - I b. Pulakesin - II c. Vikramaditya - I

d. Vikramaditya - II e. Answer not known

anTey FoayaThHula OFHaSibHL  LmLGWBLL BTLSHT BHdsmIuied wmmed HBHSI
DSBS L

a. (WpHeomd LjeVBsdl b. @yewiLmb 1e08x4 C. (BW&H6umD N &FLOTSH ST

d. yewimb elsbgordsur e, el GOxfluwalsdensv

Choose the correct statements

1. The Chinese pilgrim Fa-Hein attended the fourth Great Buddhist Council held by
Kanishka.

2. The Chinese pilgrim Hiuen-Tsang met Harsha and found him to be antagonistic to
Buddhism

a.only 1 b. Only 2 c.Both1and 2

d. Neither 1 nor 2 e. Answer not known

SDHHEWIL FnBedB ITUIHSH FhwTer Fapmens CHiTey GFuis.

1. &a103sITe0 Sl LUULL [BTETHTD LSSIOMBTL 96T Feor Liulenll UTSWITeT He0bdhl OameuwILTT.

2. a1 uwewl  WAUTSIFMTRIGD aBTagmld FhHHHOUTH  @HUBIOBTHAT UhSH  FLOW
GTHTUUTENTTS  SHSLILILL .

a. 1 i@ b. 2 w @b c. 1 wBpw 2

d. @yewiG Bevenev e. alew QFfluwialedenev
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113.

114.

115.

116.

117.

118.

Who among the following laid the foundation of Rashtrakuta Empire?

a. Amoghavarsa I b. Dantidurga c. Dhuruva
d. Krishna I e. Answer not known

ITLRY &al eUbEFHMS Bmlellwl o6 Wmi?

a. (p&eumd IGLTH6UTET b. sewng&iTeT C. SI(HeuT

d. waeomb dHmagewrt e. alenL Gz flwalsdensv

The National motto of India, ‘Satyameva Jayate’ inscribed below the Emblem of India is
taken from

a. Katho Upanishad b. Chandogya Upanishad c. Aitareya Upanishad

d. Mundaka Upanishad e. Answer not known

BCxrdflw o2 mg  GumPwrer  “FHWBLn  OLWEx”  abhd  Hewene  FeaTersHd e0(HbHd
eI(BbasLILL(BeTengl?

a. sM8am o _upL Hb b. smbsBWTe o LPLsD  C. @HCIW o LPL S

d. pewiLs 2 LB Hbd e. alewL QFfwalsdensv

Which one of the following books of ancient India has the love story of the son of the
founder of Sunga Dynasty?

a. Swapnavasavadatta b. Malavikagnimitra c. Meghadoot
d. Ratnavali e. Answer not known

SpHHWIL BI6d60 6hd [HIT6D Fihid UL HBleUeTTe HTHED HMDH

a. GEULIET ITFQUHHHT b. wrenelsrbeaiigym C. Guagng

d. gsermeuer e. alenL OQxfwelsvensv

The simple interest at x% for x years for a sum of amount is Rs.x. Then the sum is

a. Rs.x b. Rs.100x c. Rs. @

X

d. Rs. @ e. Answer not known
X

am Oamosds@d Frdigan el iguied X%eiHd X pWIGHGSG 0h. X allly HoLEIHBSH DibD
CTens 66666y ?

a. Rs.x b. Rs.100x c. Rs. @

X

d. Rs. 100 e. alewL O fuwelsvensv

X2

How long will it take a sum of money invested at 5% p.a. S.I. to increase its value by 40%.
a. 8 years b. 10 years c. 12 years

d. 16 years e. Answer not known

QWHEG 5% sSally aissHed WHSG GFuiwui’ L Oxresule wHy 40% oiHsfoHs
6T6URGTT6Y  &ITEULD SYEGHLD

a. 8 oyemiBaEei b. 10 syemiBaei c. 12 sy emipaei

d. 16 syewiBse e. alewL  OsMNuwielsvemen

At what rate of simple interest, the principle * 48,000 will amount to * 55,560 in 2 years 3
months.

a.5% b. 6% c. 7% d. 8% e. Answer not known
oOiFe0 Rs.48,000 oendh 2 SLewiBEHeT 3 THIToHHBG LI Heafleully cpsold  GLoTHSHS
Camenaswns Rs.55,560 s o WiMhsHd el alllp aisHld HTems

a.5% b. 6% c.7% d. 8% e. alenL  GaMuwialevemev
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119.

120.

121.

122.

123.

124.

Ram deposited Rs. 200 at the beginning of every month in R.D and received Rs. 19,656 at
the end of 6 years. Find the rate of S.I. paid by the bank

a. 6% b. 10% c.12% d. 9% e. Answer not known

JTD eTeILIGUT LOMHTONHID h.200 83 eumdluled QFHTLT eweuliydh Ozmenas (R.D) cpsod QFauss)
UBSTT. 6 eu(L  (pigalsd ¢H.19,656 g OuUBBIS OFBTERILAT 6lafled URIE SUHEBSG DelHH
SOy AIHHMBHE HTEWIH.

a. 6% b. 10% c.12% d. 9% e. allewL  Ozfwalsvensv

Arvind borrowed a sum of Rs. 8,000 from Akash at 7%. per annum. Find the amount to be
paid at the end of 2 years at simple interest.

a.Rs. 1,120 b. Rs. 1,210 c. Rs. 9,120

d. Rs. 9,210 e. Answer not known

oalbs eemeuT Rs.8000 m, eustay eauafLdbhs pwiGhEG 7% safauly eisd
sLemall  QupprtT. Syeni oLeibseilar (pyaled oPelbhs OFass Geuemigwl OTHHSH
CFHTMHEMUI  BHITEHIS.

a. Rs. 1,120 b. Rs. 1,210 c. Rs. 9,120

d. Rs. 9,210 e. v Ogfwalsbensv

Which one of the following monuments has a dome which is said to be the largest in the
world?

a. Tomb of Sher Shah, Sasaram b. Juma Masjid, Delhi

c. Tomb of Ghiyas-ud-din Tughlaq, Delhi d. Gol Gumbaz, Bijapur

e. Answer not known

abd Hleverey JFletanhdled DMWHSLILLL  Fomgh 2 &G  wWsl Ouflw  swrglwns
BHSLLBSBSI-

a. FFMIHFHe0 2 oo OagiTagmaller Fomg) b. QL evedluilesr ggibiom 10G)

C. GLe0edufled o _6iTem IWINGHET HiH6MbHDleT FLOT d. Ugriyfled 2 _siten Basmev@bLImerd

e. alemL OFfluiaisoenev

The Modi Script was employed into the documents of the

a. Wodeyars/Udaiyars b. Zamorins c. Hoysalas

d. Marathas e. Answer not known

Guomy TSHIHIPB 61HSH TSl LSHHTHHL GBI LILL BHeiTengi

a. 2_enL WMT&eIT b. gmomfereseit C. GammuigFTeTa6IT
d. wyrsdwimser e. alewL Gxflwalsdensv

Mughal Painting reached its zenith under

a. Humayun b. Akbar c. Jahangir
d. Shahjahan e. Answer not known

QomseuTw! @eluid WMHenL W STeuSHHe0 2 FIFHlemeven! DI [HHIHI.
a. QBPLOTUEHT b. &isuT C. SQQBTRIEST
d. agrmemner e. alew OHfNwaledenew

After consolidating his power, Balban assumed the Grand Title of

a. Tute-i-Hind b. Kaisr-i-Hind c. Zil-i-Ilahi

d. Din-i-Ilahi e. Answer not known

SHNFH DHBMHMSH OHTULBSHH W L6 LTeOLIT Held@ 6lhdH all(hend @l 1pH0\BTemrLmiT?
a. 315F-G-aflbg b. wasT-B-Bbal C. afled-G-Bevre
d. Seir-§-evran e. alew QFfluwialedenev
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125.

126.

127.

128.

Consider the following:

1. Tughlagabad fort 2. Lodi Garden 3. Qutub Minar 4. Fatehpur Sikri
The correct chronological order in which they were built is
a.3,1,4,2 b.3,1,2,4 c.1,3,24
d.1,3,4,2 e. Answer not known
SpdbHemiLauiens Fhwmer STeveuflengliLg 61(pSHeLb.
1. gdensTurgdh GamenL 2. Geomg GxpmiLd 3. Ga et 4. uBxpyfT Fa
a.3,1,4,2 b.3,1,2,4 c.1,3,24
d.1,3,4,2 e. alewL Oxflwalevensy
Match List [ with List II
ListI List II
A. 1556 1. Battle of HaldiGhati
B. 1600 2. Nadir Shah’s capture of Delhi
C. 1686 3. Death of Shivaji
D. 1739 4. Grant of Charter to East India Company
5. Accession of Akbar
A B C D
a. 3 4 2 1
b. 5 4 3 2
C. 5 2 1 4
d. 1 5 3 2
e. Answer not known
QUT(HSHHIS.
OGN AENGENI
A. 1556 1. emmeoglam g Gumi
B. 1600 2. BTHTOYT OLevedenl SLILIMBBIHE
C. 1686 3. Fleuredufest LogewIDd
D. 1739 4. HPsahHuw s6LeT Frged Geuemuil Ll L g
5. 9IBUT Siflwenemruied SIDTHED
A B C D
a. 3 4 2 1
b. 5 4 3 2
C. 5 2 1 4
d. 1 5 3 2
e. alewL GFMwealedensv

The Sultan of Delhi who is reputed to have built the biggest network of canals in India
was

a. [lltutmish b. Ghiyasuddin Tughlaq c. Feroze Shah Tughlaq
d. Sikandar Lodi e. Answer not known

BOhFHW FeOHTTH6Me0 WImT FBULTeT HewiL S HTCOUTUIHNET DIGHLDGHIT?

a. ®egIlag b. duwinsden FHibend C. QUGByTerd QT FHibed
d. fdapsT Gevmg e. alewL OFfwalsdensv

Which one of the following pairs is not correctly matched?

a. Jahangir : William Hawkins b. Akbar : Sir Thomas Roe
c. Shahjahan : Travernier d. Aurangzeb : Manucci
e. Answer not known
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129.

130.

131.

BIPHHWIL. Benentuled HauBTer Eenenienil SHeuTl 3.

a. WaOBTHIST : allevedluid amTdHal6amerd b. &bu : Figmoed Gym
C. QGTERAMTET : Q66T d. siepgmsdl : wad
e. alewL OFflwealsdenev

Match List I with List II

List I List IT

A. Igta 1. Marathas

B. Jagir 2. Delhi Sultans

C. Amaram 3. Mughals

D. Mokasa 4. Vijayanagara
A B C D

a. 3 2 1 4

b. 2 3 4 1

C. 2 3 1 4

d. 3 2 4 1

e. Answer not known

QUT(HSHHIS.

Carea 1 Carea 11

A. B&51 1. grHSHwiT

B. sgmanfi 2. G606l &i60SHT6IEH6IT

C. oogd 3. (PBEOTWITSHET

D. Gursar 4. eflul BSBJLD
A B C D

a. 3 2 1 4

b. 2 3 4 1

C. 2 3 1 4

d. 3 2 4 1

e. alewL OGFfwealsdenso

Which one of the following Muslim rulers was hailed as the ‘Jagadguru’ by his Muslim
subject because of his belief in secularism?

a. Hussain Shah b. Zain-ul-Abdin c. Ibrahim Adil Shah

d. Mahmud II e. Answer not known

SHT@MLUI  IDHF  FITUBB  CBTTeNSHWTEL  6hdH  (WeroeSlD  eTelT  MBHS(H  6TaIBl
SIENIPHBLILILLTIT?

a. QBPMFET AT b. enegei-2_60-Silig 6ot C. BupTansib Slged QT

d. ®yewiLmb (p&bIDGI e. alewL OFflwaledenev

The correct chronological sequence of these events is

1. Region of Krishna Devaraya of Vijayanagaram

2. Construction of Qutub Minar

3. Arrival of Portuguese in India

4. Death of Firoz Tughlaq

a.2,4,3,1 b.2,4,1,3 c.4,21,3
d.4,2,31 e. Answer not known

BBLD6YBEMENT  HTeVeUTlenFLILIGHSHHIS

1. elwpsy Currdlear dmagent GHeugmuwifer LG

2. GSIIOeTT S LLILGEH60

3. @pdHwmalBg GuniTdaibssdlufer eaumens

4. QUBITOG GHIbeTHE T LDF6mILD

a.2,4,3,1 b.2,4,1,3 c.4,21,3
d.4,2,31 e. alew QFfluwialedenev
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132.

133.

134.

135.

The Mangols under Chengiz Khan invaded India during the reign of
a. Balban b. Firoz Tughlag c. IItutmish

d. Mohammed Bin Tughlaq e. Answer not known

LRIGHTIWITH6T OFRIFer0ETalaET Henevenouled @hdHwmenel HToHGLEUTH BbHwmele  LoevTeIT
wir?

a. UImeOLIGHT b. QuGrTed ZHidend C. ®e0gIHL0610

d. sz Ve sibens e. alenL Gz flwalsdensv

Consider the following statements.
Assertion (A): The battle of Khanwa was certainly more decisive and significant than the
First Battle of Panipet.
Reason (R): Rana Sanga, the Rajput hero, was certainly a more formidable adversary than
Ibrahim Lodi.
Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of “A’.
Both “A” and ‘R’ are individually true but ‘R’ is not the correct explanation of “A’.
‘A’ is true, but ‘R’ is false.
‘A’ is false, but ‘R’ is true.
e. Answer not knoan
LTedTeu(mHeueTeuBens  BHev6uT.
&Bul (A):  wpHev umelul Gumeny el smeteur GUTT HBLILITEISTHOD, SHTLOTENSHELD
Gumasad SBHSSI-
aryewid (R): gregusaly efft @yreomamist oiglitenL ulGuBw @rpmanib Geomgenuwl ail
Hmev FphHeH eIJT SLeUT.
(A) oppd (R) Syemipo gfl, Guwsid (R) eeiug (A) alB@ sflwmer alendosid.
(A) oppd (R) @yemiGd gfl, Guwsid (R) eeiug (A) alBg Ffluwmer alenssid &ie060
(A) &, agemed (R) seup
(A) souml, auemed (R) &1l
alenL  OFflwiaisoemev

an oe

oo o

Consider the followings statements.

Assertion (A): Saluva Narasimha put an end to the old dynasty and assumed the royal
title.

Reason (R): He wanted to save the kingdom from further degeneration and disintegration.
Both “A” and ‘R’ are individually true and ‘R’ is the correct explanation of “A’".

Both “A” and ‘R’ are individually true but ‘R’ is not the correct explanation of “A’.

‘A’ is true, but ‘R’ is false.

‘A’ is false, but ‘R’ is true.

e. Answer not known

LeTeu(heueaTaUiBens  SLUIb.

amBul (A):  FTEpey  BIFIDWET UMW eubFSHHeT o FbG  (PpBBILeTall  eubdHl  HTes
2 Wihe OuUTDIlmL  gBmIsOIETEILTT.

smenid (R): seaiaiemLuw o' d Gosud Femrosd, Lfibgelmosd LTgisrss el b6,

(A) wppid (R) &yewipd &1f, Gweud (R) eemg (A) alBg sFflwmer elendsid.

(A) wppid (R) @yewibd &f, Gweud (R) eeiug (A) alBeg sflwmer alendsd Sis060

(A) &fl, spemed (R) seum

(A) soupi, pemed (R) &1l

allewL  OFflwealedensv

anoe

©on o

Who was the last ruler of the Tuglaq dynasty of the Delhi Sultanate?
a. Firuz Shah Tughaq b. Ghiyas-ud-din Tughlaq Shah II
c. Nasir-ud-din Mahmud d. Nusrat Shah

e. Answer not known
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136.

137.

138.

139.

140.

141.

QL 606 F0FHTEIHEMED HibeNds UDFHHI HewL & LD6OTEIT WITT?

a. Quyerd QGT FHlbend b. @yewiLmb SwnsdSer Hibend agm
C. BB (PSS d. pervysagm

e. alewL OFflwealsdenev

The famous literary work Tabqig-i-Hind was written by

a. Alberuni b. Badami c. Zia-ud-din Barni

d. Khafi Khan e. Answer not known

Uasboums @eusalwll uemLLiumet FHLs-B-anslhd e1(pdweu

a. SeLOL(mHe b. usmd C. aguwim-o_-geir-Lmyen
d. &r .0 s e. alenL QxfNwelsvensv

Alauddin Khalji became the Sultan of Delhi in 1296 AD after treacherously murdering his
uncle and patron. Who was this patron?

a. Jalaluddin Firuz b. Nasiruddin Khusrau Shah

c. Ghiyasuddin Balban d. Qutubuddin Mubarak

e. Answer not known

SlevTeyFHe &Hlevgd &L 1296-60 HeIGI DTG LOBHID STUUTeNemISH HCITESHIHT (LpevldD OBTenev
CeuwIs LImE OLevellullel SEOSHTEITENTT. DiUTSH STUILT6NT WTT?

a. MeuTeident GUGTTerd b. pHEmBSHT GHagel agm

C. WSS LITEOLIGHT d. @suger wurys

e. alemL OFfwalsoemnsv

Tulsidas, the author of Ramcharitamanas, was a contemporary of which of the following
rulers?
a. Akbar b. Humayun c. Shahjahan

d. Sher Shah Suri e. Answer not known
Wetteu(pld syl Flwmenitdeme Jrwgfigweaimed QuiBplwl siendaTaflear FosTeossHalTs S mbeHeuT

a. OIGBLIT b. anflomuyes C. QQTEIHTEH

c. Oagitagar @ e. alewL OFflwaisdensv

Who was the author of Padmavat?

a. Abdur Rahim b. Jayasi c. Kabir

d. Surdas e. Answer not known

USLOTeUS 6TeDID [HITEN6D 6T(LRSIWIeUT  WImiT?

a. SIUSBIm Jansib b. Ggguunf c. &L

d. @itsTen e. alew OHfNwaledenew

Two of the great Mughals wrote their own memoirs. They were

a. Babur and Humayun b. Humayun and Jahangir
c. Babur and Jahangir d. Jahangir and Shahjahan

e. Answer not known

FHhIBEHMLW Fwgfengdmwl HThISCT 611wl LUsOUBm @6 (LPHEOTWITSHEIT
a. umum oBmitb ensliomuyesr b. anfioruyen wBBID eeasThIEST

C. UTUT LOBM@ID £QeMRIssT d. MeasTRIdST WBEID aTEET6ET

e. alewL OFMwealedensv

Who amongst the following, Rajputs offered uncompromising resistance to the Mughals
in the sixteenth century and never accepted their overlordship?

a. Rana Fateh Singh b. Rana Kumbha c. Rana Pratap

d. Rana Sanga e. Answer not known
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142.

143.

144.

145.

146.

147.

etteu(pld  JTRUSAHTTHEH6T  16-1D  HIBDBTERNIQ60  (PHOTWTHEHHEG 6IHITe 165 FIOFFIOBM
aAHMITenen RIS WIHD, SleuTHeler GueoTHsasdhmwd @HGUTHID gBmId  OBTET6NTHeHLD
wirir?

a. greworm UGxH Fmi b. ymewim @bum c. gmewrm Lgs

d. grewim FHiIST e. alewL QFfwalsdensv

At which of the following battles was artillery used for the first time by one of the two

parties to the battle?
a. First Battle of Panipat b. Battle of Chandwar
c. Second Battle of Panipat d. Battle of Khanwa

e. Answer not known

Weteuqpd  Guniidsefled  (pHev  (wpedpwnsd 2 Sewiselled  @amled LIRS UL WTeTg
o uBwndldsiiul L GurT e1g)?

a. (pgeomd umeiul Gumi b. #pseunit Gum

C. @yewimb umefiu Guimi d. seteur Gunit

e. alewL OFflwealsdenev

Who built the mausoleum of Jahangir and where?

a. Nur Jahan at Lahore b. Shahjahan at Agra

c. Nur Jahan at Fatehpur Sikri d. Shahjahan at Delhi

e. Answer not known

MABTRISTIE HELEVMBITEISHI WITJT60, 6IMIG SLULULLLGI?

a. HITEamTer, 60Tgwifled b. agrmasmes, dgTaled
C. mrTmemrer, UGH. .41 HébMuied d. egrem&mer, GLsveduled
e. alemL OFfwalsoemev

The Italian traveller, who left very praiseworthy account of the Vijayanagar Empire, was
a. E. Barbosa b. Manucci c. Marco Polo

d. Nicolo Conti e. Answer not known
almwpsyl Cuirdlemer upplw CumBBsHSHHs udHiilmer ol BF CFamB SHHTeolwis  Lwewi

a. ®. unGumram b. wrensd c. wrtéGsm GurGsor
d. Bl&ECamBeor Gasmemiy e. alewL Gxflwalsdensv

Mohenjadaro is situated in the district of

a. Punjab b. Larkhana c. Bavalpur
d. Gujarat e. Answer not known
QLT EhaHTCIT 6lhd LTI L SHH60 2 _6iTengl?
a. UEhFTL b. eoiTdamentm C. LITGUGOLYT
d. emyns e. alowL Oxflwalevensy

Anbu borrowed Rs. 3600 at 15% simple interest per annum. At the end of 4 years, he
cleared this account by paying Rs. 4000 and a Watch. The cost of the watch is

a. Rs 1000 b. Rs 1200 c. Rs 1550

d. Rs 1760 e. Answer not known

OIS SuemiheEGH 15% Hell auliguiled e5.3600 &L euThRIA T, 4 el (pigaled 4000 eHUTUI
BB RH MBHBYETTHMSH DiefHH HLMOT DIMLSHTT 616160, MNBHHQBMTHH allenev

a. Rs 1000 b. Rs 1200 c. Rs 1550

d. Rs 1760 e. alenL  GaMuwalsvemev

At simple interest a sum of money is double in 20 years. What is the rate of interest?
a.20% b. 4% c.5% d. 10% e. Answer not known
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148.

149.

150.

R GUPIUUILL OxTemswnaidl SHoleaully (Wenpuled 20 SLewIhEHaied @(HIOLRISTHBS  6T6ilev,
ALY aIHHMmSB SHT60TH.
a.20% b. 4% c.5% d. 10% e. alenL  Gafweaisvensy

Find the simple interest on Rs. 5 a2b? for 4ab years at 7b% per annum.
a. %agb4 b. Latp? c. datps d. éa?’b“ e. Answer not known
Rs. 5 a2b2 @ 4ab eupLsaBE 7b% eisb sefeuly Srewis

a.%as‘b“ b.%a“bs . ga“bs d.§a3b4 e oL Gsfuaisame

Find the simple interest due on Rs 7,500 at 8 % per annum for 1 year 6 months.

a. Rs.700 b. Rs.800 c. Rs.900

d. Rs.1000 e. Answer not known

Rs.7,500 &@ 8% eully aild @@ eU(HLID 6 WOTHHIGBEHHBTET ST 19enUI SHTEIH.
a. Rs.700 b. Rs.800 c. Rs.900

d. Rs.1000 e. alewL O fwelsvensv

A certain sum of money amounts to Rs.6,500 in 3 years and Rs. 5,750 in 1l years

respectively. Find the principal.
a. Rs.4,000 b. Rs.4,750 c. Rs.5,000
d. Rs.5,550 e. Answer not known

1
R GPUILLS OsTmswreais 3 aihsefed Rs.6,500 oise|d 15 Spenhadefled  Rs.5,750

FAD LOTHISBHI. DIF60 OHTENHMWISH  BHTEHIS.
a. Rs.4,000 b. Rs.4,750 c. Rs.5,000
d. Rs.5,550 e. alewL Oz Muwelsvenen
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